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timates for the financial yeq, 20049

= %
9, the estimated expenditure on education

1. According to the Union Budget es . of rupees
and health sectors respectively in lakh cmrt‘; (‘; I (";)(appr"’(imatqy)
' ” and 0. ~ 136 ’
(1) 1.16 and 0.79 2 1.26 anc . =Y and (.99
B0l 33§5 @O (Genis,, g (4)  1.06 and 0.69 i
' "fl,g 30850 ;3(,’,;, Borrd8 50005000 :)23(350

2024-25 @0¥ oD B000HONDD
B oonSD (OBHTBMP)
@OTSTTED DI ©Ee g*‘@ Bpdpaied” (&
085w 0.7 ne 55030 089 () 1364
() 1.16 0a 0.79  (2) 1.26 3004 36 506y 099 (4) 1.0650805» 0.69

he fiscal deficj
it of the union government (prr,visional actuals) as

2 As per the interim Union Budget 2024-25, the.
ncial year 2023.24 .,

percent of gross domestic product in the fina asaround -

1) 5.3 percent Qr 56 percent 3) 59 percent | (4) 5.0 percent

2024-25 55088 Bolts 0§ (sramds THTE) B0, 202304 wis G0 606t So BHEe T8 B
e (fiscal deficit) ipo ShGr)BE* WiPs> F0% TEMT Gop 7 ¥ S )
(1) b53=&0 (2 56880 @) 590 4) 5.0=80

3 Consider the following :
Assertion A : The per capita income (at current prices) of India in 2022-23 (provisional advance estimate/

first advance estimate) was more than1.70 Lakh rupees.

ReasonR: The per capita income growth rate (at current prices) of India in 2020-21 (first revised estimate)

was around 6%. :

Choose the correct answer :
(1)  AandRare true. Ris not the correct reason for

(2)  Aistrue butRis false.
(3) Aisfalse butRis true.
(4)  AandRaretrue. Ris the correct reason for A. ‘

(Bod =B HOKBOIED : .
(BB8ZSS A 1 2022-23 (808798 S0085Y ©OST/FNEH Z00tHy BT (HKS 8Os FRESEE S0T0 srrcto

1.70 ofp Sparche So8 S sod:
s8mo R: 202021 (B058 388008 @os)e® grdsnd #0000 emrad JB Bew (FS B0’ Lodwdore

6% re 6ob.
8BS SSrgrard) DodE Boodm :
(1) Ay L0 Rz, AS RIBS 506690 5000,

2 Azdp D REDy.
() Ay =0 Rady.
4) Aeady 0600 Redp. A & R &3S se8es0.

4. Which of the following is equal to disposable income ?
(1)  Personal consumption + personal saving
(2)  Personal income less indirect taxes

(3)  Personal income + direct taxes
(4)  Personalincome + consumption

Bob B DB H5oiry, erralrds Skrdo ?
(1) #BrS D@0 + KBS FD

Q) #5818 smrao Hob 6% Hisnen BB NSO
()  $BrE emrabo + @& S

@) SarS soabo + 0G0,
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; the Union Budget 2024-25 5,

As . . an .
5. : f gei
of India for the financial year 2024.5 ! " descehding order the following sources of revenue of the Government

Income tax
C Borrowing and other liabilitjeg Corporation tax
Choose the correct answer : D, Union excise duties
B,A/D,C @ cC3
5024-25 Bol&S ©FE (@s~Ko, 2024_25' :'GD @ CABD 4 ABCD
BN * 3 VO Sos® groE Hehds Bob el Srtped e 58P 5eee @57056
A [Baylorvie K)Eﬁ)& 7
C ~ @we0 HoBAD 28 oKpen B eehois 5.
59 SEPETRY DoE Vo : D Bo JBE S0
B,A,D,C
(1) (2) Cr B[ AID (&) C/ A' B,D (4) A, B, C,D

What is the percentage share of gre
5 emissions as stated in Economj greenhouse gas emissions of India’s steel sector in India’s total greenhouse gas

¢ Survey 2023
t -247
(1)23 212 ;;;czr% P é(Z)V 14 percent () 16 percent @) Tpeent
. -35 36 Q ésé)) 2 500, erSadsonts Fmgo 508 s aPcioe (greenhouse gases) DseE’,
658805°) 6 (steel) S0rio 008 sstsehy s fyse TEBDO T 08 7

o 12 e40 @ U=zgo @) lezdo @ 10=&o

7 Armange the following sub-categories of fossil Aa v . iy -
capacity in India, as on 31.05.2023 - SS ' fue_li ::cendmg order on the basis of their installed power generation

A Coal B. Lignite Gas D. Diesel

Choose the correct answer : 3 '

@) ABCD @ DBCA @ BADC @ CBAD

808 Beras BOGK &H-E50R, gREEBEE0s® 31.052023 w88, O FHE 805 688 oS0 SEEOrT B
E008® @SB

A & B. QS | S D. &as

D% SSPEETR) DoRE B = 1)

(1) ABCD @ DBCA @y BADC @ CBAD

8. Which of the following statements about active companies in India (as stated in Economic Survey 2023-24) are
correct ? :
A About16.91 lakh active companies exist in India as of 31 March 2024.

B. The services sector has the highest number of active companies.
C. Within the services sector, business services have the highest number of active companies.

D.  About1.85 lakh new companies were registered in the financial year 2023-24.
Choose the correct answer : P
1) B,CandDonl ,

23; A,Band C onlzf @, A’ - anf D

o8 & 202324 & S5 G0, a;oééééoéé@@‘éo Sondes Kowododd Bob mes” O &dy
A 2024%70) 31 B8 wééaéoés Boboore ‘16;91 ogo Basrde Londen aTmow.

b S s Gomoon sdas Son? (ghest Ende Solemon

C e BoKostd Basr8e ohes’, 5O R0 Howohod o¥Hl Sopge® BosrEo g0 &y
- dore 1.85 OO SrSS Sonden S oeesaiomgom.

(2)_~-Aand D only

2023-24 es8% SosEE08" WD
B SirrraeR) Dol B |

(1)  B,CBcin DS

() A, BB C SRS

ET Z (3 v

(@) ABmDIRED
@)/ A/B,C0cwD
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9. What is the approximate percent®s . ..vey ancj
estiranaltses andI;I; stated in Econom grceﬂt (?:,) 58 perc, 2l year 2023-24 7
5P g 0o 00t < 4) 50 percent
N oo Cﬂbég,

(1) 52 percent 2 > 553 o
2023-24 608 SoBHBOE® &FEE 3 56 B 0) Do 9 TR OB (e,
@oiSaren $000 2023-24 €8 ¥ 5@, s ) 58 mesg X
(1) 52&&0 @ = @ 50z80

10.  Consider the following : .- rate (IMR) in India has ;
Assertion A : The infant mortalffzﬂfl y Health Survey.5 g :foctlmed from 40.7 in 2015-16 to 30 by 20
ReasonR: As per National Fa! al fertility rate in India in 2019—21yw el
Choose the correct answer : is not the correct reason for A PRE

(1)  Aistrueand Ris true. ButR

(2)  Aistrue butR s false.

(3)  Aisfalse but R is true.

(@)  Aistrueand Ris true. Ris the corr

(Bod B J6KBoHIW

BOJES A : gro8Tgos’ 8% Sobere O (IMR) 2015-16 &t 4, 008 201921 o8 308 $A08
TSm0 R: e Hemon e K055 @eeE0; &J"éfsé.go@s ogo Sozte Bexn 2019.01 06’5.2

BOEE HSGEATY) DoDE BAED : LI B el
(1) Aasy SHoaw Redy. A RIS 5680 S

2 A 2.y 520 R &y,

() ASHp =0 Rady.

(4)  Aagy $0aw Radp. A RSDS TR0

Consider the following concepts related to Indian popu_latlon :
Unemployment rate is the percentage of persons unemployed among the population

ectreason for A

11.

A
B.  The percentage of employed persons in the population is called wo
rk i i
C. InIndia, the population between 15-64 years age gr Oup are ConSiderezr;;ovggiii;m o i
Choose the correct statement/s : LA
Bonly 3) BandC only 4 A,BandC

(1)  Aand Conly @
FPEETE a3TgrS $00000DS (Bod grSdeo HBKBoHBn

A arges® Qe&iHeore &) e TEed) &)6)5‘355@ B 0wy,

B. ama;@‘s SarH 0B e TT) SO axege OB @ wosrd)

C 8835065 15-64 Soseyore Sk S = .

€ 5 HODK) EOAS a3perdy $9 I S S

R8N Tga(©)%H o2 Satws : 1 ' L L

(1)  ABcs C s )
12.  Consider the following statements relating to Indian population/demography :

B&m@d  (3)  Bodasm CSr(g$D @) A BB C

C i
The ensuring decadal census of India will be the sixteenth in series.

() AandBonly
®) agA and C only g; A,Band C
FOETE 8P HomoBos Conly

808 oo «
A So8E 508 SO BOHBOLHE.
B esrgr aégzb :)cei:lse;iz 3406° 10050 BTErEH Sbere Sogy,
C 088508 oot 565;0&,1 1550, 35 BoSEros e8P0 BTErR B,
9B g0 088 Bagsy,t T DN, BESES er BEed ©HTOR.
1)  As8ah BSmsS ‘

() ASoBasH C s, 2 A BSHBHC
@4  CSmesdD '
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atch the following Populatigy, C

15 o228 pet .Naﬁonal Family Hea?racterisﬁ
POPulahOIIl‘CharaCterisﬁc th S“We;.; (.)f adults in India (age 15-49 years) with their percentages -
A. wWomen who are literate :
B Men who are literate Z:rcentage of Population (Appr oximately)
. ' L 0 -
G women with 10 or more ;
i ¥ear Lo 715
p Men with 10 or more yearg ofs = Schoohng m 844
E Choos€ the correct answer : Sc}\oOling N 50. :
@ Al :IIH, CL DIV ‘
A'IL y C—m, D"IV (2) A_m, B_I’ C_IV ; D'I].

b Eotnow 8BS F-5 S, . @ AW, CI1, DI
2019-21 6° © OEEPO BTge TEogh $0&h 15.49 BoHB e SR 6F) H@re (adult) 2T EF O

g ©E0 BEDS ok
g IS0 (Do)

A @ETRRBN So&rgen
B. eETPRBS HBoDe L 41.0
c 1080 08508 M So - L 715
D 108 @ossod aéoizs ac,zz:z ZZZ@% B ?bf@ m 844
ol HBPGRIRR) d0DE St - T BY HLDW V. 502
@ BEILCLEY ‘@ AILBLCIV,DI
G BRRBLCTS B (4 AIV,BI,CILDI
14. Amange the following Deputy Chairmen of the'lélaxming Commission in India in chronological order :
A Montek Singh Ahluwalia “B-  SB.Chavan
C  KCPant ‘ 6 Pranab Mukherjee
The correct orderis : R
1) ADBC @2 CBDA - @ B D,C A @ B,ACD
553 808° (Heedse Yoo @wE) Bod éé@ééﬁ@é) S| SSRRIFBO @BOE
A Er085 Hoh @IV B oHR.8. IS
C 8.2 $o8 D @ed fowd
¥ (B0 oS Has0m
1) AD,BC 2 G B,D,A 3) BDCA @ B A,CD

nts are NOT truein relation to national income ?

d with a base year is called national income at constant prices.

d in current irear prices is known as real national income.

Gurvey Organisation (NSSO) provides national income estimates.

15.  Which of the following stateme
A.  National income estimate
B.  National income estimate
C.  InIndia, National Sample
(Cll)loosz the ;ogrerc‘; ;nswer(iz - ond Conly @) AandBonly 4 ABandC

andCo
A~y 2y S ?
PBATTPDS $ow0FOD 8ot 35%068 W R e vemdews 43080
A « & @oisTe IV  BPErOSTR) B G006 EFEArIIne SO
s HodBvos ¥ - 5 EBATTRISTR) 5 (real) epdairerao QOLT.
B. (%08 oS 608" €0 545 epBAsTErad ©oSTOH ©oBNOD.

s 4 6,5_
C  orBsdsos® 4SS w5000 ° o
535 SmgreQy F0bE BERRY ) BB CIRED
(1)  ASBcsnCErED @ A, B5BSwC

()  ASBasn BERED
| 8 -~

ET



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

16.

17.

ET

gard to the national income estimates in India :

ith re
tatements W! ini
ome In '“dependent India were prepared by the Central Statistica]

Consider the following s e
A Thefirstofficial estimates of natio
ation (CSO).

QrgamS ( t of India mer5e d the C¢ el Qtahsuca_] Office and National Sample Survey Office (NSso)
B. The Government of 11

in 2016. . _ ‘

m N ] Statistical Office (NL;()) was establisheg under the Ministry of Statistics and Programme
C The National Statisti

Implementation (MoSP]).
Choose the correct statement/s : . j P,

, D an

1 B and C only
(3) Aonly {

RN NS (Bol TgIO0 HOKBoKHW

grBEBE erdATrad @0l
FngAEE OBBY epdsrrrash ool Bolt Kol %0 (Cs0)

A gBoEso HYS Soxs 588308

BrrroB0oR0R.
2016 ° gre5e (Sgbiso Boles K08 SOOI $oBain JHKS FroHS KB oY) 0% Fhos,

B.
Kook SoBasn S eden 0BES TP SEB508° @B Hermos STROARY) o Bheo 28RS,

C
$BS a5 (0% Do Vo :

(1) Bodcin C5mED
B) ASRED

Which of the following statements is/are true in relation® to agriculture labour as per Annual Periodic Labour
Force Survey Report 2021-22 (based on broad industry dlvlSlOIl as per National Industrial Classification-2008) ?

The percentage of male agricultural workers (all India level in usual status) was less than 40% of total
agricultural workers (all India level in usual status).
The percentage of female agricultural workers (all India level in usual status) was around 66% of total
agricultural workers (all India level in usual status).

A

Choose the correct answer :
(1) Bonly )
(3)  Neither A nor B @)

BoHE)BE oS (57308 98 ¥ IBBE 2021-22 (B avotaogbé HE%e 2008 (S5°60 Y BEE DS
&gREorT) (H5e80 {aegéébdﬁ: g% Jowohod (8ob a°egaa§e>e35 a&/o)g) 2y ?

A grEEG%08%D Jwdo et Pow HgHFcH sob&éwé‘s erB883505%) Jgrdes pow HOI RIRNERIoN
sOyEoen 40% S0 SE)S é,asgd;

B. 56884065 Ando Forises Fpow Seead OO, grESBEE erdes Jow Hoeee I
S°6éé>en m«‘ﬁ:vd)m 66% e‘s@a& o

838 REPTRaR) o8 Saskwsy -

1

(1) Baimg @  A0aH BOoKr
() A H8a BBotir w 4 AsmED

Z 6
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\VhiCh Of the fOHOWing StatEme

A The growth rate of nopm;
: m ed
owth rate Ina] to nap )
n 2021-25 8rogg va ational income in India is/ are correct ?

In 2022-23, the . Ue a - oo
Per capita i dded (GVA) at basic prices was more in 2022-23 compared to its

C The per capita net state dq OMe g cuy
: T ;
Mest ent prices was more than the per capita income at constant prices

Telangana than j
In Ha
Choose the correct ans . Tyana, Product at current price: , .
wer . ent | s (base year 2011-12) in 2022-23 was more in

A and C only

2)
@066850@6 Wéwm%‘,aé " ( A’Bar\d

2022-23 &° (Do B0 ¢ (@) BandConly PO p—
= B Beeh e e o0 T/ D6/DD o8y ? S

(535580 Bre Denss B85578 wrpor
Q0% NBo 3
B.  2022-23 & (S8 &5 v Eﬁé@ Seog® @Swig e | U S e v soodt
) O 5 oyt NP 2022-23 8* &SP 4ol
C 2022-23 & (Ko & OO0 e ’ ; ;
] . N RNE BSerest T Ao ?86 §e H E000 srraho g8 NENSHT GOk

00 S” QENHe @os, 85 Ty S8@r)8 (578 SodEBo 2011-12 &) fropgred 508
$B% SLEPTTRY A0DE Faswsy - ’
) ABOED CmlE s

@ ABSBamc (3 BHbosn CanEH @) AZSD

th :
f‘s I)liineist:;%?\dédvance estimates of hational j
i s Sovernment of India, which income 2022-23 released by the Ministry of Statistics and Programme
value added (GVA) of agriculture and uic of the following statements are true in relation to the growth of gross
A. In 2020-21, agriculture and allj allied sectors at 2011-12 prices.
B, The growth rate registered g]llﬁ:i sectprs {E%Etered a growth rate of around 4%.
¢ In2022-23, agriculture and alliod non S R ot o 2021-22 was more than 3%.
Choose the correct answer : sectors régistered 8% growth rate.

A and B £ :
(l)esé :;a::é 5 ?{I;Z g % J(z) A,Band€ - @ AandConly @ BandConly
g : (e . 5092 08 B HEsre wien Sods woa OB 308 BT 2022-23 Botd SwOBRY
méwéoéa IS &éo}: ? 5
2020-21 6° S5 LB SoOL Borpes HIFEM 4% S TLH STl o,

A
B, Sgdarch 080 edomot orren 2021226 3t I Y Bew 3% B0l KD
C 20222365 550D OGS womots dorren 8% HAY SHFE Bzeaw.

KB DSTGRTRR) DoBE FoSosw :
Iy A0 B S50
() ABoH CEmED

2. AB elov @
4) BdcmC oo
e true in relation to national income ?

Which of the following statements is/ar ) )
ichof theollowing services produced within the geographical boundaries of a

. nly intermediate oods and .
A The value of only riod i.e. ;gn one year;, is called gross domestic product (GDP) at market prices.
et fo if it is positive, is subtracted from GDP.

nation in a given time pe ‘ P2 cioni
B While estimating gross national income e IOt fhcome
(Cll)lOOS(le3 thelcorrect answer(‘:2 ) P — ~J (@) Neither AnorB @ Aonly

only L%
H6/09 iy ?
; % 09 Bod T §a°§066 :

i &O@;@- Lé %0588 goe0d’, &8 B8 FRPE oo oo aH)B Bobads Sotigso 5
A 28088 sPe0 1.;3 &wa s & $30 B8RrE)8 wotrdd.

5

hido Deniso S 4 5 988 sTirR), ©b HITESOT 608, dro FEErEY

555605, Sé

o]

spo ebairorai™R) ©ODT
5008 BRI

A “ 9, éw :

38X SEmgrard) JoDE Basw s BBot

(1)  BSw@D B =
\Z] PT.0.

B) A0B0BBoEr D () ASPED
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21.

22,

23.

ET

ues relating to India :

: Air val
Match the following indices with therr Vil
Index and Year I 0.437
2022 0.576

Gender Inequality Index in "
Human Development Index ,ln 2021 i 0.633
Human Development Index 1n v, 0.644

A
B.
C
AL B, CIL @) AIV,BILCIT  (4) AILBIV,CI
F¥), D08’ 5855 |

Qend

0.437

Choose the correct pairs:
(1) ALBIV,CII (2)
grSSB3E08 Howodod (Bod srdes 8
Joed) B0k Hoddo

2022 6° Dol ETHE KD

L
A
0.576

B, 20226° & edg o0 1]; e
C 20216° S5 @B @rd -

- V. 0.644
3B 80D oY Tasosw
(1)  A-LBIV,C-II @ ALBILCI @)  A-IV,BI,CII 4 ALBIV,CI
Match the following production of various crops (second advance estimates) in India for the year 2023-24 :

Crop Name Production (in Lakh Metric Tonnes, approximately)

A.  Rice (Rabi) oL 128.9
B.  Shree anna (Kharif) : P 228.4
C.  Oilseeds (Kharif) ' 975
D.  Maize(Rabi) 123.6

Choose the correct answer :
(1) A-V,BICII,D-II (2 ALBICILDIV

(3) A-I,B-IV,C-I,D-III @  AIV,B-II,CI,D-I

FPEEBEE0S® 8ob Hotwid 2023-24 &°, & Howe GEE (BoKS BoEy @osae) & sEBBSR
” a8 (ofe JBE ©nes® Hirtmr)

Sob> D
A 38 (D) L 1289
B. & o) @59) I. 2284
C.  r3 Aomen @5%) I 975
D.  Iw&Ems (D) “IV. 1236

8BS JEreraed) Do Baswbo | .
@ ALBILCILDIV

1) A-IV,B-I,CI, D-I
3) A-ILBIV,CI DI — —(4)  A-V,BICI,DI
Arrange the fgllowing states in India in asceg%ling order based on percentage of population below 15 years of age
in each state, in 2020-21, as per National Family Health Survey-5:
A.  Arunachal Pradesh B. Chattiégarh c Jharkhand D. Punjab
Choose the correct answer : £
CD,B A 4 D,B,AC

(1) B,A,D,C @ ABCD 3)
ar8ah Henon 8% $3-5 (B0, 2020.21 &, gro8EEos™ (Bod (K8 Togos® 15 YosE e Sakky) Kol

BEYES B &%) e B0 SO B et [B3500S° entym :

:’&. PSS ($EE B. 38348 C.  &rbpol D. Soerd
VBN BIrerr) 208 Fokosn - '
@ CD,BA @ D,BAC

€ B&DC @ ABCD

Z : | 8



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

= |V

Google Play

21

23,

ET

4
. relating to India -
Match the following indices with their values rela ;5/ ke
Index and Year o L 0.437
A Gender Inequality Index in 29 o L 057
B. Human Development Index¥r12021 0633
C Human Development Index in V. 0644
Choose the correct pairs : LG ¢ ANBICE @ AILBIV,CI
it e R, Sante]
ST Yomo§od (80b Hrdoid @&53” % ol o) :
) 0% o880 WL teR
A 2026 DoK e G0 o BT
B 2026 $m55 sgigg mg E 2297,2
C 20216 smss 05)8 & B e
S0 2805 0% Satsy - A
()  ALBIV,CI 2 ALBILCIL @) AV, B-IL,CIn 4 AILBIV,CI
Match the following production of various crops (second advance estimates) in India for the year- 2023-24
Crop Name Production (in Lakh Metric Tonnes, approximately)
A Rice (Rabi -1 289
B.  Shreeanna (Kharif) L 284
C Oilseeds (Kharif S 975
D.  Maize (Rabi) o1
Choose the correct answer - —
(1) AIV,BLCH,Dan @ ALBICIm Dy
®)  AILBIV,CI,Dan @ ANVBImCH Dy
PESEES B0 Hobes, 2023-24 & & Bosse &8 Boxs S0t wosae) & BESGSHK -
Hobs s a8 (oo @8 & s Gkrtom)
) L 1289
B & o) @85) I 2284
C %3 Aoz @8%) m o975
D 3w8m%) (sh) V. 1236
N3 Srerard) 208 Sty -
() AIV,BL,CH D @ ALBILCII DIy
®)  ALBIV,CIDa. @) AIV,BI,Ca D
Arrange the following states in Indiain ascending order based on percentage of population below 15 years of age
Ineach state, in 202021 a5 per National Family Health Survey-5 .
A Arunachal Pradesh B. Chattisgarh C Jharkhand D.  Punjab
Choose the correct answer :
) BAD,C @ ABCD @ CDBA @ D,BA,C
280D Hewog &G 845 (Hse50, 2020-21 6°, epssdgoets Bod (8 >gos® 15 Soddyore S0y goB
ROH Sy &) aTgr g SO B e56Piipe Eoos? S0 :
SRS (S B 38%K8 C  &rByok D.  Hows
8BS Kazazvm“m&)& 0B By -
() BAD,C @ ABCD @ CD,BA 4 D,BAC

2
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25.

26.

ET

h of the following state
with regard to India’ Sln ent(s) is
' The total fertility rate inoI
c The crude birth rate of
Choose the correct answer : PO lation e Loy
éa?:;ﬁ; P
0HOD) Léoa
SN 3 Aont
@oééé% Tog® ée)%é R AT :ga/gbg)(&)g) ? o
B8R I0S° 2017 &° Fyese = )
2020 & TFESBE sen gy, <
4 HIFPGETRY) VOB VSwgy -

A, B&08a%n C @ B Sl
Which of the following statements ab
0

A India was the largest
/ Produ
B. InIndia, 16t livestock censnclir

Wwhic
A

g0 B Only

)8 Bew 1.9+ @0

B2 O= e

Choose the correct answer : were conducted in 2020.
1) Neither A nor B (
(3) Bonly 2) Aonly
@ Both Aand B
RGBS SO BB ©w0l Sormes gwég_:

A 2021-226° ($D0508° grEERE0 08 2y e
B 88808”1635 $% Kerosren (hVest;k i

9% SEPGRRPRY H0HY Ssosm :
(1) ADDSD BOOES S ?
(3) BSwRED @

Match the following major sectors with the percentage share of India’s exports (in US dollars) in the year

2021-22 :

© A Sl

ut i ; s
of h?dlﬁn agriculture and allied sectors are/ is correct ?
milk in 2021-22 in the world.

GET IT ON

Google Play

/ are
ngl‘a i gr::,e in relation to India’s population ?
1ain p th, the year 1921 is rega rded as the year of ‘Great Divide'.

n 6 §
India in 2020 was around 24 per 10,000 population

(4) AandBonly

19215 «
218 SoBeyoer) ) Defesy Bondydore Bhpeaedo.

S
§ alare dew (crude birth rate) 58 10,000 sy 2417 GO

(@) A%BdwB P

9 0B TegES® DB FHI/E ?

Percentage Share (approximately)
67.8

11.9

16.4

2.0

Major Sector

A Agricultureand allied products 1

B.  Ores and minerals 1L

C.  Manufactured goods IIL

D. Crudeand petroleum products )\
(including coal) , —

Choose the correct answer - =

(1)  AJV,BILCLDI g’) gys B CLDY

(3) AJLBILCLDIV ;
8oB (e Borredd 2021-22&° PSS D(ﬁé)éae{ L

(Beed Borred e {J 1
A Sdeas SO0 @Soe0s O o B
B $o& pleen (0res) 4,005 PITD (minera ) m
C.  S05m8 S0 V.
D (E sobosn DSOS e B

(£°158° O%)
8BS SSmraed) J0D
(1)  AIvV,BIL,CL DI
@  Ad,BI,CLDIV

& oD @
@)

]

AL BV, C-L DI
eSsea Sorre ers® (oS obod®) asdtsdw 1

e S0 (Rodwdorr)

67.8
119
16.4
2.0

A'IH/ B'Hr C’Il D'IV
AL BIV,CL D-1I
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; : »ments imates, the serviceg gq,
27. Consu!er the following staf:;"; provisi"na '.Sﬂ:“;ial year 202324 cto
AsaitiomiL: As per cent in the e ollections anc
above 7 perce | Services Tax € 's and th
Both Goods and: daily toll collection ang

I in India is estimated to have Brown 5

€ issuance of e-way bills resulted in sip, le

o ligit growth of averag” failed to support the transportation Serviceg
atg 7’
growth in 2023-24.
Choose the correct answer : e correct explanation of A
and R 1

(1)  Both Aand Rare true 1
is f 5 true. ot ex .
g; Il;(w];\f‘/‘\lsa(;l:i“l{(l:lf: ::':w but R is not the correct explanation of A,
(@)  Adistrue but Ris false.
(Bob aegageRd HBNEBOBK
(DOIES A 1 &EdE @0l (580,
DENSIT GOLNOLR WOBT
TSmo R: 5 Do $Hy TreHen 08
Rdogyg 5B (single digit growth)
$BS JErEraeQ) o Baswa :
() A0 Ray, AH RIBS 57680 ) A&y sdRady.
(@ . ASDa Reagy 0 A RIEBS 590600 5oL, 4 Aadp s RESp.
28. Which of the following statements is/are true in relation to cottage and small scale industries in India ?

A Basket weaving and pottery making are exam'ples of cottage industries.
B.  Smallscale industries are more capitf}lLl:;IIteI‘SIve compared to cottage industries.

2023-24 898 Vo8&t grusdgoets S Boro £)8 Ben 7% goi

30«5\)@0 %6ﬂ0&.

o B-85T0 Deye apd g Braarh GKkn &S St o)
& H0ED, 2023-24 88 Sapee Lise 508 o 2B,

Choose the correct answer : 3 ;
(1) Bonly @) BothAandB (3  Neither AnorB 4 Aonly

ErsEB508® B SO0 D) S5 BOFEHD YonoBoDS (Bob aaedt DB/ alp ?

A oo o8 HdAw Hode Efewe ézé& HB|ED0B SrrsTSeren.

B. %85 00 ¥o0s® PYRGptd, O%) BB H0Fen IS Sures FoBss SOR aoeram.

8BS BEreraeR) QoD Bakosw : : -

(1) BiwED (@) AZdanBBoEr (3) A H0GH BBokr =P (@) ASESD

29.  Which of the following statements are true:m relation to national income of India ?

A. Inthe estimation of gross national ificoie, the income generated in a given year, within the geographical
boundaries of a country only is considered. .

B. The income earned by the Indian citizens by working abroad is a part of India’s gross national income at
market prices.

C  Toarrive gross value added at basic prices, indirect taxes are added to gross domestic product at market
prices. _

D.  Gross value added at factor cost is equal to gross value added at basic prices less net production taxes.

Choose the correct answer : £:%

(1) A,CandDonly (2) B,C andDonly (3) A,B,CandD 4 BandDonly

FBEGE PEArTRaSrOR $om050d (Bof amped® H9 ey ?

A. ":wgo wé@wéo)g’g&) ®OST 305063020& a.,é Sgé :605)6“)60958, 28 3% 008 é&é"cége) He R’)e)%oéea&é
STPCER) SPED HOKSEE SoEroimth,

B.  gr08 Fren 88 Sevedt 52 32 B80S emraho GrEERY erdArTraos® af griore dotnod.

C. e 6o (basic prices) Kipe Desi $oB0%% (GVA) 805 SahErd8 SrdiS s’ Spo Jdrs)B8
$6°8 Do SenHzetn, Ty

D. &8 sseo b S)aps dro Do 580 = eged 808 (basic prices) Sro Jood DAY — Y
&8 Spen. * ) .

BB SErgrard) oY Faswm

(1) A, C5Bacn D &im(@dh (@) B,C B0 DErEd

3 AB,C%0c0D 4) BdaD Kool

il Z 10
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InIndia, the levy of wealth tax hag boerias
abolj;

30.
L
- ) 2019-20 @ 20 TR shed with effect from the assessment year :
sle S (FESBES BODS By Baberdy 5 g @) 201415 @ 2011-12
ces ] Qﬁ’.é) “
1) 2019-20 @ 201617 RoHEBo (assessment year) 08 58 BB ?
31. Which of the following statementg - RE)) 2014-15 @ 2011-12
India ? Correct about the national multidimensional poverty index (MPI) in

A.  The MPThas been estimated f, ,
B. MPI estimation in India is inOr. India by National Institution for Transforming India (NITI) Aayog.

Programme (UNDP), with a few € With the global MPI published by the United Nations Development

C The MPI estimated by the NIT] Customisations for the Indian context.
>8 standard of living. AaYOg has three equally weighted dimensions : health, education and

D. TheMPlindex is obtained
Choose the correct answer : as the product of head count ratio (HCR) and intensity.

o8
@ AC andDonly (2) BandCo
nly 3 A and D only @4) A,B,CandD
S5 E0E erBDH aFviND HEOY @) H L
A grostes 50230602 dc?/aé “m{?f& (MPT) Somogod Bob as°§a:§e>65 0D 2y ?
B osddo & &0 , DT0E0P HEBE KrHY DB w@PR oST BcHo 20Nk
R P é)ﬁ’)i{fsm n &?;?33%&5?&’«&%@&8 5508 ©dHg S0 (UNDP) H5HB0DS (BH0S DLT0RDP
5 = e’f 08® 5050y HEEE KrdH WoST BceHeo =dAD.
C 8 e@rhR ©oST® JRH avsny HEBY KrdHE? wbtio, s VD 55 Hdmeao — o S ©oT
BEFS GroTrO BIWO BBACH. £ 3
D. do 8800 dH glead count ratio) S08c%n oSS BN, $rEase8 0BXW 200 33508 $d.
3% SEPHITRY DoDE B : e
| 1) A,CS0c»D S8 @ B g))aoﬁw C S
(3) ABaS D IS @y A,B,C%0c»D
32.  Arrange the following countries in descending order based ,o,ﬁ their foreign trade values (in million US dollars)
with India in 2023-24 : | b
A, United States of America B.  Russia “C.- Singapore D. Japan
Choose the correct answer :
ical 1 BCDA @ 'CABD @) ABCD @ DACB
202324 & erESEEE (80d Bere DB SEE dendo (DHS ooz webod’) sgedore, &Y o388
eat (Es008® eatiyym :
i A eBse Hooskny ke B B3 C. 20530 D. &S
g 8BS SSrGrarQ) DodE Bosodm : -
. : (1) B,CDA @ CABD (). Murd, CD @ DACB
33.  Which of the following statements is/ are true in relation to sefv.ices sector in India?
‘ Al Transport and hospitality services are sgb—se(ftors of services sectgr. N
2% B.  Central governmenthas introduced the ‘Service Exports from India Scheme’ in 2015.
) »
Choose the correct answe () BothAandB
® e @ Ao
28 either A nor 5 o 98/99 2y ?
g O Sttt bon S8 SomofoD $00 TS SOR £y
A Saver S0050 8 DI Sy Goriol a8 eierrio.
e 50 DB HFE’ £
B 201565 artd (9880 (g5 5CE0 Bo0l 5580 ©3 T (HSFNGod.
“A V4 2. é}) 2
SBS JSoegreard). DoDE BAw @) A0 B3
(3) A obos» BBoE® 5o
[2_- " P.

ET
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35.

36.

ET

— 3

. tioned in th :
3 b /are men i e Natlonal PO lati Polic (NPP) 2000 5
i i Is ob]echves 5 . against : pulation Po y ?
};Vh lCthI?'l :vfﬁozerfﬁﬁn/mnizaﬁon ak Chll(i)rfe :geg allvaccine Preventable diseases.
. chi - :
B.  Promote delayed marriage after 21 yea

. 7
C.  Achievé¢/a stable population by 204
Choose the chrect answer : 2) Band C onl
(1) Aonly @ A,Band C

3)  AandConl <
;")édia Q@» z:;)z;lwi“y;o—zoooeS‘s Bod & OFSOD/EBTOH Beyge, 88ACE 9

A 3g0% s Sooth miwo Toe OO0 HOR tions ©05800 T et PEYBE B B%SS 1aq
FHotSe0. . 55

B. 21 Bosdiore Sabiy $3) $5% IR TN Tty @amerosso,

T 2047 555 asogr %5 (stable) & FPGOBOO.

SN BSrHrar) Do Sckosn :

1), AsmED (2)  B&Bow Cimis,

(3«)/ A 50805 C Sov( 53 4) ABSda»C

Which of the following statements is/are true in relation to the estimation of national income with the help of

output method ?

A. Under this method, the market value of final goods and services in an économy in a given year is considered
for the estimation of national income.

B. Under this method, to avoid double counting, the value of intermediary goods is not considered while
estimating the national income.

Choose the correct answer :

(1) Bonly (2 BothAandB (3  Neither AnorB 4 Aonly

S$)8 558 oxoe FEOTERArY) @S HaHerds Sow0809 Bos g6t HB/H 2.8y ?

A & 358 rBArmraing) eose S0HLRDS o8 Q08 BoS&B0&® 2.8 ©0Y HSHS'D 008 53 Dise
x5 DB HBKeaSS8 SioHoemss,

B. & 3486, o8 wom)) Both ) B8ostone dodoms PR, Ho6i5580 (intermediary) S50 Deoss
DBKead6®8 &ostss,

JBR SSrGreR) DoE Botwsn |

(1) B&rsd (& ABamBBor (3) A OGS BBoe S @) ASEED

Which of the following statements about the Finance Commissions of India are correct ?

A. As per the Article 280(1) of the Constitution of India, Finance Commission is constituted to make
recommendations on the distribution of net proceeds of taxes between the union and the states.

B.  The 15t Finance Commission made jts recommendations for a six-year period from 2020-21 to 2025-26.

C.  The 16! Finance Commission’s recommendations would cover the period of five years commencing
April 1, 2026, ot

D.  The 16 Finance Commission shal] make itsreport available by 315t October 2024.
Choose the correct answer : '

(1)  B,CandDonly @ A CandD only (3 BandConly 4 A, BandConly
gPEERE05Y B8 J05re% Bomosod 8o bgméeé‘s A ady ?
A oo $Bat olafo Sogfs, D85S DX DAY Hod FaHerds How0GoD HFBTen FaHirDs e grss
Tees0r06td ©6%8mo 280(1) (5080 e é'o{no:{)& DoRen B
! 15% @gé o500 2020-21 o0& 202526 géé: O et S0IEYTP S8 DFRETen Sahero :BR08.
- 168 8% Kogho BETen 2026 DS 18 BB 5008 3058 5T 0 BoSB T 502080 Eoéron.

B
C

D.  16% ©B8Y Koo & R385 2024 ©8%5 31 B8 oBoTd.
BB SErCr) 08 Sty - ?

(1) B, C3580%0 D simig

3

A, C 508850 D Soo(&30
B 380k C simiesss @

4 A, Bs0d0io C 5@

Z ‘1,2
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38.

39.

40.

ET

ot the ‘India State of Forest e |

:;‘; ; e correct ? ; Repon (ISFR . ' ‘
:II:I}:: ;gzlst?;f:_: (i)r‘ll%r ?f € Coyp ) 2021’, which of the following statements on forest cover in India

' elan ry |
B e the correct answer - 8ang Wag V‘(;?S less than one-fifth of the total geographical area
B only € than one-fifth of the state’s geographical area. '

gg Neither Anor B
GP5S OFS oD II8E (308 s
559 5T90/0 ? 3 g

G S
B0 Tt Fvgo Ry gi

() BothAandB
@ a only

BRME) 2021° (B0, FBSBIE® wiod Do Bobd TS

A
L oo U SRS Dioar. 80 sbd Do s Hot S0l 8t
j _“.goée s ; R8O © lo] g’ém SG0ob.
9% waesi® DOBS By ; Do 058 Ho Kol IS €0
%0
m BIE
() A0 BBotr 5o ' g Amaog BBt
ich of the following i AZmE
Vlv)hlc Bilateral deﬁ;mg 15 nota component of India’s external debt ?
(3) Extern'al commercial borrowings (i) Private corporate debt
80b TBSE° Db FBITE DTS aremost (4)  Multilateral debt
o OS" 2.8 grifo ok ?

(1) B8 eweso

() ©iIrEE Tdeg aweren Q  (Howden soBHSE eweso

@ aifmé Kaéo‘& 200E30

Arrange the following crops i 1 = :
pet 4’advance es tin?a tes)g n descendlng order based. on yield per hectare of these crops in India in 2021-22 (as

A.  Rice B.  Wh - W .
Choose the correct answer : e C.. ~ Bajra D. Maize
(1) D/ B/ Cl A (2) B, D, A, C (3) B C, A, DI B » (4) AI C’ Bl D

6555060, 2021-226° (58 Tt Sobw Bibed (45 Swotsy ©oSwe) SrFtor Bod Sopet s35
E508® @otiym. :

A &0 (rice) B. Rigosm C dg D. wHEY
4B $ETEPIRR) HoBE Voo :
1y D,B,CA (@ BDAC @ CADB @ AGBD

Consider the following statements related to‘Nagar Van Yojana' (NVY):
A, The scheme has been implemented by the Ministry of Environment, Forest and Climate Change,

of India since 2016.
B. The funds for the scheme are available

2020-21 to 2024-25. ‘ . _
C  Thescheme aims to enhance the quality of life of city dwellers.

Choose the correct answer : g 7
(1)  AandBonly @ B f?gd C dogly
3) AandConly 4 A F i

80b mg&y:&{o@ﬁe%oéaé» 2

SHE $8 s (NVY) 9080609 pudin
A erBE (HeHiD HOIOR0, wisd) O FEStR I HoBE P 2016 Hod & SHSRY Sinie

S FONAY s
) 20_;0&21 o 202425 555 5458 SoBRLO ©FBYAS $08 (CAMPA) 8ot & B0 %o Jgoen

woherens® ST

Government

under National Compensatory Afforestation Fund (CAMPA) during

C K8 e A58 Trgst 2O0 L55ER) G Do FgorT DigHod.
RS G50 | B
(1: &T;Z?;:f;;z () Bod® C S\
gy ABSBC
()  Abain CEATESD (
@ 13 P.T.O.
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; ing states i
41. Match the following crops with their Jargest PT oducing states in 2021 - 2 (as per fourth advance estimates) in

e Largest producing State
A I(Q:irgp 1 Karnatakﬂ

. ) . Jujarat
B. Sunflower 1. Gu ]d t1 il
c Total pulses 111 W’(:h i
D. Groundnut 1v. Madhy
Choose the correct answer: - T T—

" BILCAI, D

1)  AJLBILCLD-IV @  ALBILCIV, D

() AJILBI C-1V, D-11

V] S HePd A < &
erBSBEoSt 2021-22 (g 0 woistr® (B 0}, 8o ot e w&Bsor Hobodd TiEpest

238D,

So® 8 3"3 éso)g m§°
A, B (rice) L gonert
B. % 8B L woed

C  3wdo IRy Graren m 58 gorrd
D 3% 45K V. gy BSS

¥ BSFEPRQ) oY Bhosdm :
(1)  A-LB-ILCI, DIV @ A-IV,BI,CI1, DI
(3)  A-I,B-I,C-IV,D-II @  ALBI,CIV,D-I

42.  Which of the following statements is/are true in relation to Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) ?

A.  Itconsists of two major components namely :
i Accelerated Irrigation Benefit P;:ogramme (AIBP) and
ii.  HerKhetKoPani(HKKP). *= :

B.  Itconsists of two components namelyPer Drop More Crop (PDMC) and Watershed Development Component

(WDC).

(@ Her Khet Ko Pani has four sub—comt ;_lnts.

Choose the correct answer :
(1) ABandC 20 AandB e (3) Aonly (4) BandConly

(HrsS00® (83 domrowe Eeesd (PMKSY)&’)@S%‘O% J02050D (8od a°§a:§e3©5 B/ 2Dy ?

A 2058 Botd (HEPS gRrren $IM0N. D :
i BS80S D& e [HIRFAEssiES0 (AIBP) S0
i, 6 P& & I (HKKP).

B. =0t Botd grrren aamom. ) ({8 $HEH ) Sos (PDMC) Hcin srefl Bdehots s2ot¥F0s

C. &6 35 & 0 (HKKP) areurd eermrod 07 ¢od.

8BS BErerard) JodE Bandw :

@) ABBEC 2 A%OSKHBIPSDH @) ASPED @4) BoddH CIrSD

43.  Which of the following methods are used to measure gross domestic product (GDP) in India ?

4 Basingsmethed B Outputmethod C Incomemethod  D.  Expenditure method
Choose the correct methods : s

(1) B,CandDonly @ CandDonly

(3) Band Conly ‘. @ ABCandD

8ob SEses® B grssBsos® o G8ErE)80 SPodtrds aS@BeAYRD ?

A D a)cg@ B. &8 a’;g& vy C SPOH K)(‘gé D. éegdﬁo KBS
SBE SEreraed) oS Fohoso ry ;
(Y B,C5Ba5n D S Q) C0ako DEFEH

(3)  Badosw CamEh 4 A,B,C&B&WD

ET
y 4 12
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45.

ET

ich of the fO].lOWiIlg Stateme
. - nts
ulation Projections > are trye )
on PoP The population a for India and S;Terelahon to India’s population as per the Report of Technical Group
A. ged1 s 2011-2036, Ministry of Health and Family Welfare ?
B.

ili £ s s w,
Pertility rate and the life expect as more than one-fourth of total population of India in 2021.

= Ol;tlogg;%toml Population, the pr, '
2011- . Portion of population aged under 15 years is projected to decline during

 Outofthe total population, t,
Choose the correct answer. —
) A, Band Conly
@ BC and D only (2 A, CandDonly
85ifg $0BAD Lenow $oF o & 55 (@ cCandDonly

P

p8ES (5 JBBE BsTo, grs B 2011-2036 SeerS HoR0GOD GBS
I a’“ éa'g amwgo ~ 2 2
Yowofod (Bob Tsagos® OD ey ?

A 2021 & 15-29 S05& TR S5
B 2011-2036 So&ssee ‘25 > o) esiog, ERBSEE IS0 esegrs® 1/4 5 S0 Eo8 HENSM™ &ob.
c 2011-2036 miso@z@s’ ;::‘saéﬁ Bex Sobotn esdiy: (55780 DBRE ETHOR.
» SDEO ase “ . 3
éc‘%}é)eé@ ©OBT® ISHEI0 asaﬂo;pée 15 S0 o7 S5 Kol SEpd DAY LOAY e3T°gP e9doP B0

D.  2011-2036 Sotsgsre0s®, Iwdo e

2 SRE S K% B0 DEIHEOLD ,
9% SBFERTERY DodS Bckodn : g g o 2ot auposie SRS
1) A BB CEmED @ A CH0anDIHED
(@) B C&0B0» DIHSD (4)  C0Bck D SHED

Proportion of elderly population is expected to increase during 2011-2036.

84 mapgrdn ®OBT SOV

As per the Fiscal Responsibility and Budget Management f}%ﬁgwork, which of the following are the limits of the
eneral government debt and the central government debt respectively in gross domestic product by

315t March, 2025 ?

(1) 65% and 45% (2) 70% and 50% @) 75% and 55% (4)  60% and 40%

2025 &) 31 &8, 8od BSE DD &5 ergge DA a’agéf’ QBSees DhEre (PS80 FERB (HgHS 20O

2005 Fols [HeHss eweo Ens) HOMen Jpe BEEr$)gs’, HOI™

(1) 65%50am45% (2)  70% 0050 50% @) . 75% SO0 55% (4)  60% O 40%

ture to éachitem in the Union Budget 2024-25:

Match the following items with proposed expendi
Proposed expenditure approximately (in Rs. lakh crore)

Item
A.  Defence L 1.16
B.  Rural Development oL 152
C  Agricultureand allied activities m 266
D.  Information technology and telecom IV. 455
Choose the correct answer : o
(1) A-LBLCIV,DII @ AIVBILCIDI
() AJLBIICLDIV 4 AIVBLCILDI
808 sozre 2024-25 Bols 0GES’ SBED (H8 ©oTB B0s (HOF0S H0008° wBBELD :
- (B80S Sgaho wirtm (950 ey Srdahed®)
A S8 L 1.16
' s &
C  &gdeao HBaD im0t FEETT 455
D tstimars dncBpgs S0 B0 .
&Bé 43 2. 20 -
& &ff;%j\fﬁ]?@ @ AIVBILCIDI
i @ AIVBLCIDI

3)  A-I,B-II,CL DIV

[Z: 15 P.T.O.
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47.

49.

ET

are true in relation to nationg| income 7

Which of the following statements is/

A. National income at constant price 5 i : f
rindex of e
bette €CONOmje we

sa
B. National income at current pr ices i fare e . . ‘ .
at constant prices. as compared with national income
Choose the correct answer:
(1) Bonly (2) BothA and B

e AP a8 BooHod (Bod 5‘5"83)300 SYAYSE wo))_) ?
48 Bendoss .
L Eofien &5 e VA Sestmsc,

3 .
©) Neither A nor B (4) Aonl
on y

A RS 55060 apdairee

By steet o (s §oust erBarraRe. $BS Soin 5n05im08 ok s imt
’))JJJ’A_!(\J ISR

$BS SRR DoRE B :
(1) BsmEd @ A0 BBoE” ()  AfBam BBogr o W e
Which of the following statements is/are correct as per the Economic Sy rvey 2023-24 7

A. The Indian e-commerce industry is expected to cross US$ 350 billion by 2030

B.  The Indian retail market is highly organised. The share of modern retai T p—— n
ce) wi

increase to 60-65 percent of the total retail over the next3 to 5 years.

Choose the correct answer :
(1) Bonly

(3)  Neither AnorB (4}

©0% 53 2023-24 ($s°60, Bod avegméeé‘e aa/azb a;ono)n 2

2030 &8 grESBE -0 HOED 350 & DOOHS OO b ©HKWKOSY &R0 BBAE.

A.
B. grd30d06° DB &) (retail market) &ran Sosp@SRG. PG 3 K08 5 SosE o Twdo el

SrBYUSE S DYY ST T (- @;@3@5 ED%) 60-65 3728 BLEIHEB.

£2) Both A and B
=A only

"

h

BB SSPGPIeR) HoRE BAHE :
(1) BEmED Q)e:
(3) Abcin BBokr P

08350 BBor

Which of the following statements is / are true in relation to agricultural prices in India?

A.  The Agricultural Prices Commission (APC) was set by the government prior to 1970.
B.  Representatives from farming community acts as non-official members on the Commission for Agricultural

Costs & Prices (CACP).
Choose the correct answer :
(1) Bonly g (2) BothAandB "t3) Neither A nor B 4 Aonly

ST E0E’ JHJHE $B0% BooBod:S 8ot a;ga)éeess DB/ ey ?
A (BeHE0, 1970 S0t SEEIany s 82555 (APC) dopy TRoB.

B.  B& dogyre (farming commu
g Gotnth, nity ) @%éow éegéaooﬁaé SHgasren S oo SRS (CACP) o0ids708

8B B8rgrard) Do Fckow
1)  Bswg
(1) GRS () A0 BBowy (3) AROGWBTOERSDH (@)  ASEED

Z 16
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V
ared to the decad 1
When TP L1 dia during 20050 th rate
Ef 0 ulation © sel:1 wa quring 2001‘11 (as pit: ::f POpulation of India during 1991-2001, the decadal growth rate of

DeCI'ea MNSug 201 I) .
3) Increased by about 10% 2 Did not change
2991—2001 & grOERE aTogr Cﬁ)oéer & @) Increased marginally

Jogy ;

e ) 558 3 Beo B )R Bena® aegyispis, 2011 e B o, 200111 & FE5E%
1 [P

ot 10% DBAOR (:{) DnSoB ey B
)

©)
2011 populati Sgenore 200008
As per ulation census, whi
true? ch of the fOHOWing statements related to population of Telangana is/are
Nirmal distri
b edapal i, s tom s mo thar male popiton
. , TW
e el Population was less than rural male population.

Cc.  InMahabubabad district
rurban female population was more than urban male population.

51.

Choose the correct answer :
1) Bonl .

(3; B an(i, Conly )  AandConly

( 4 ABandC

2011 irgr BEY (H5°80, Boorre et Sonogod (Gob w5mses® B/ wlp ?

A S BRS® HBHDO 8T K08 DI wmep JLPT G0B.
B DY LS’ ([T HSie e Solf (rhhw Hirdo amer SR ¢ob.
c aforowd agd Béyen HBEDL argr ol Hge EPEL 3T°F QBN &0B.
0% SSPEER) JodY St : | . o
(1) BI@ED @B  A%00» CERED
(3) BBk CErSD (4 A B®DEWC
52. Match the following years with the respective gross area mf_g}fangana (as per Telangana State At A Glance, 2024) :
Year Gross area sown approximately
(inlakh acres) . 2
A 2019-20 I 185 X ¥
B.  2020-21 oL 210 %
C.  2021-22 m 222 : L3 4
D. 2022-23 Iv. 198
Choose the correct answer :

(1)  AdILBIL,CLDIV 2 AIV,BLCILDI
(3)  A-JBI,CIV,DI 4 ATLBIV,CII D1
808 KoSSTOR, Feomrend® wf ETW &S dro DHPo&® asSsHin (Boorrs 6 IS D R, 2024

©5°80) : A
16055‘350 Séa"e» 83 2’0;;9 D_‘ggor
(0%0 Jgoeedd)

A 2019-20 . 185

B.  2020-21 o 210

C  2021-22 m 222

D.  2022-23 v. 198

3PS Sy Jods Sasodm : = |

(1) Al Bj]& C.LDIV @ AIV,BLCILDI
G ) ’ ’ ! (4) A"II ,:B;IV ’ C—]]I ’ D-I

A-1 B-11, C-1V, D-II
B [zl 7]  p1o.
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53.

55.

ET

e top comm

Which of the following is th b ernme

Socio -Economic Outlook 2024, G ve!
(1)  Electric machinery and equiplt
(3) Pharmaceutical products
Boorres (58080 @) AesE @g&ag)o
wgpEorr AHH8 Scedd (Dend

(1) DgS aho(gren HOA e lD

() TS agFen

ent

As per 2011 population census,
district:

Name of the District
A, Jagitial
B. Warangal
C Siddipet
D. Vikarabad
Choose the correct answer :
(1) A-LB-I,C-IV,D-III
3  A-I,B-IV,C-I,D-IT

SBR"

GET IT ON

Google Play

dity exported (in vq) )
ﬁt OtfyTelangana ? i terms) from Telangana in 2023-24, as per

(2) Ofganic Chemicals
) Alircraft, Space
2($0-2024 (Ssois0, (8 R
° mzﬁ) $3959 ? SO0 et g 505 Beoorres Kool 2023-24 &8
@ PO 8y
(@) DS, VOSBETE 53805 B

Craftand parts

match the following dish'icts in Te[angana with population sex ratio of each

Populaﬁbfl Sex Ratio
995 '

1000

1036

1008

2  A-V,BII,Ca1, D1
@  ALBILCIV, DI

2011 sooge B (H5°50, Boorrnd™ (Bod BROD T8 axrer dox B8 ws55H5w ¢

2 D
A asheye I
B. SBoKS - - i
C 2808 R
D. Qseoeerd = IV.
2%6 SEreIeQ) DodE Fasosm :

A-l, B-I,C-IV, D-III

(3)  A-,B-IV,CL DI

Match the following classes of land with the extent ofs 1

on Agricultural Holdings) Act, 1973 :
Class of Land

A.  Double crop wetland, class-A

B. Double crop wet land, class-F

C. Dryland, class-G

D.  Dryland, class-J

Choose the correct answer ;

()  A-LBII,CIV,D-II

(3 A-LB-IV,CI,D-II

Boorre GO (JErah Sare

8080 H5887e08° 838583505 -

- Do &8, $518-]

2205 Ooif ]
995

1000

1036 £ - %

1008

@ AIV,BIICI,DI
(4) AFHBLCIV,DI

indard holding as per Telangana Land Reforms (Ceilin

- Extentof Standard Holding (in acres)

L 35
o 10
m 50
V. 18

2)  A-I,BI,CIV,DI
4 AILBILCILDIV

F) Kazg $BHS) 360 1973 [$s°80, (808 4R SBKHOR, (s

R SrdE Shdo $88rno (AsTresd)

& 818
A Both Hoten H0T Srreed gmay, S5K8-A L 35
B.  Both Soten H0% Sereed afway, B8K8-F oL 10
C Dy e, $516-G m 50
D. V. 18
el

S JSreraed) QoY Foswky |
(1)  A-LBAILCIV,DII
® ALBIV,CLDII

)  A-I,BL,CIV,DI
4)  A-IBILCILD-IV

Z

18
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hich of the following Statemengg
56. A For the year 2023-24, the rev.are true 5 P _
" of GST. 1sed egj Il orfthe Budget Estimates 2024-25 of the Telangana state ?
Regarding corporation tax, for goods and services tax (GST) is more than the budget estimate

B.
with regard to the ta €Yea
C it taf:: o ;ES Onsales, ader 202324, the revised estimate is more than the budget estimate.
D 023-24 Was egt ete. for 2023-24, the budget estimate is less than the revised estimate.
Choose the correct answer : Stimated jogg under revised estimate rather than under budget estimate
n under budget estimate.
Band D only
(
B, Cand D only 9  A,BandDonly

©)
O o) a>§5 ®OoSTen 20D e

2023-24 505&T°08 do20807)
@OST® QENS™ Gob.

B. 5"5&)6:15 D3PS Sowosoy 2 e\
023-24 %
202324 & eSyses, S0 ajéz%“?c??)é()éo@e 2 ©OUT K08 ¥HB0DS woTe LY GOk
- aéf‘ﬂ ?"&’3 S Sowohod, $H5B0DS wosT B0l a@éﬁ ©OoBT®

St 4)  AandConly
by &éo& a"éméo@’s 0D wdy ?

A ,
%y Sig
= f&e’ 553& Swd), aagéﬁ oS 508 EFOY) SO D). Go8), 458008

SEYH B0B. r
D 202324 & Endo By oo
e A Tl o3 00 (o5 o8 550003 S0 ot ST oS B0
598 HSETR) oS Dot : S~
(1) Bé:)@diDDé)"@:a) ‘ (2), AIBK))GCSSJ)DW@Z{&J
3 B C %8050 D S| 4 A0cmC ool

Which of the following statements related to per capita income of Telangana is /aretrue?
A The growth rate of per capita income (at current prices) of Telangana in 2005-06.was less than 10%.
B.  The growth rate of per capita income (at current prices) of Telangana in 2009-10 was less than 3%.

57.

Choose the correct answer :
(1) Bonly @) BothAandB

3)  Neither A nor B 4) Aonly

Beome SoBd emraird8 Jowohod Eod Tyl DD wp ?
A 200506 6° Booree $0P0 emrdd £)3 06 (RS 550&®) 10% S0l EEHHT &ob.

B 2000-106° Boorme S0 srrad $3 Ve (%3 $606%) 3% S0l SR God.
£ SETERIRRY Do Bk :

(1) BEm@d
@) ASBc» BBoEr S

 (2) A 08050 B Dot
@ ASRED

. Asper the Agriculture Census 2021-22, the average land holding size in Telangana was :
(1) Onehectare @ Two hectares (3) Threehectares  (4) Less than one hectare

(1) o 3rseb @ o TER @ seoTeg @) 80 %08 EE5
()

5. In 2004-05. which of the following districts in Telangana had relatively higher human development index
-05, whi

(HDI) value ? : ‘
(1) Nizamabad () Adilabad @) Karimnagar (4 Medak
2004-05 & Beorred® (806 gepes® O 8% G0E), S0 0B %708 (HDI) Dend Fhggorr P
éod ?
(1) Dendrers o eeoTd (3) 8BoxiE 4) 8

z] 5 eo.

ET
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60.  Which of the following state clusters were a ppmv(]‘;l by the l(‘langifna government to support its weavers ?
A, Theratpally B.  Pochampaly € Ghatuppal
Choose the correct answer :
(1)  AandBonly
(3)  Band Conly
Boorres (HgHS0 &5 80035)&)&‘9 sssaso Daberds Bod 0"@ Qi iPesep (state clusters)

(2) A and ('(m]y
4 A,BandcC

363 e3rBonos 9

A 589 B. 95059 C gy
8BS DSrEraeR) Dod Fasosw :
() AS0cw B &SmEdH (D) ABdin C smiess
B)  Bodao CdmEd @ A BB C
61. Which of the following was/ were launched in 2015 by the Government of Telangana in relation to Information
Technology (IT) sector ?
A. Technology Hub (T-Hub) B. Telangana Academy for Skill and Knowledge (T ASK)

C Telangana Innovation Cell (TGIC)
Choose the correct answer :

(1) BandConly () AandBonly

() Aonly 49 ABandC

QIR FOSBE Borrd8 Howood Boorrs [H50E0 2015 ¢ 8ot &6 B02/389 | 6ofonos ?
A Bsyed &6 (T-Hub) B. ~ Boormm g $0am a8 ewi2s (TASK)

C  Boorrs $580)$ S (TGIC)
[BL ISR dodE Saswsw
(1) BB CSmED ¥) 0BA B Ke(&3h
() ASED @ A BSBHC

62.  As per 2011 population census, which of the 'followixjgéiatements related to literacy rates in Telangana are
true?
A, The total literacy rate was around 67%.
B. The total literacy rate in rural areas was around 57%.
C. Thetotal literacy rate in urban areas was around 77%.

D.  Inurbanareas, the literacy rate among male was around 87%.
Choose the correct answer : %

(1) Band Conly (2 A,BandC only (3) A,BandDonly (4) AandD only
2011 ex3°er 8o (Hse80, Boorrnsty OEDBD H0w0G0odS Bod et O ady ?

A Sndo OFTRSE Tew BSP 67% m dod,
B, (o (Frosrod® Snio OFORE B KoSTEM® 57% e dob.
C e (@orod® awdo OFTE° B ST 77% 1P od.
D, 34e (@osredt Hsest OFTSER B oSS 87% e 0d.
W8 DSrCrD) dobE Bowsw :
' (1) B0t Caiomigsy (2 A BBk Csm$D
@y A,r B as:aaﬁwéav@s;» @ A8 D SrEH
, ol

ET ’ Z 20

H!
l’
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With
I‘Egal‘d to tl\e /Cro Loan W . S(_’
~term p aiver Scheme 2024’ of the Government of

The scheme applies to short

e scheme appli
B. E%F:z;)rrect ::;I:e:rt.o the Crop loar?s Ollr)lt:?lilelgl;:srm ;r(:g ltoans. .
(%1 OOSNeither jpe . m district cooperative banks, rural banks and scheduled
€) A ofly o G @ B onl
‘6§e’o)s°eé Bk é°¢5§3°é’)§ o“)oe:dz)g::; & J020509 ([Bob gm0 HOKBoEM |

gex é:gsvé T, (285 ame S & 550 $EK08.

58200 0 $oB0 ek ergoe ol B Hob Grped & DHE
5835 $&PEPTR) DODE By - iy, '

1) A S08350 BBom SN

@) AIPED @ - BsmED

Which one of the following statements on ‘G (4?) ;\Eﬁabo‘éw BOo&>
a It aims to benefit low income groups bl‘uha, ]’S"thi’ sche@g of Telangana government is correct ?

) Households utilising elec tricity less ﬂz’aﬁrlc;;dmg electricity. . ‘

3) IntheTelangana Budget2024-25, the gOvemmumts per month will be benefited under the scheme.

4) It has been implemented from April1, 2008 ent proposed about Rs. 2,500 crore for the scheme.

Boorres (54080 GE) M) &8 $E8 Bomosods Bob aesages® OB ady ?

@) D58 ©0BOHE0 T BERTRED STRes (Ereso SN0 & Do ag¥o.

Q) Bot 150 e ol S DiisgBis v Gtwomees (households) &k Do Bots BErado FOMEC:
() 8oorves oges 2024-256° & JESRE HEFS 2,500 8% Crirched HEFHOTE.
(@) S SESRY) 2024, A@S 13 B Mok soen B ETED.

Which of the following statements is incorrect Wiﬂ\iregard to Telangana Industrial Infrastructure Corporation

Ltd. (TGIIC) ?

(1)  Itidentifies and develops potential
() Itprovides social and other infrastructure.

(3) Itdoesnotuse Public Private Participation (PPP) mode.

4)  Itprovides infrastructure through development of industrial areas in Telangana.

Boomres FOEE SPOE JETFY SENERS DBEES ¥omoGodS 8ob argagod® O Sy ?
@  $p0 yows® HB Boerds e Boorres™d HEEOR KD 3 AR 300
- Q Q

2 ub PSeRY So8c50 2BV 5308 @“éc‘goéa EO)000.
28 &HTTACIED.

0)  (eos-dondin gy BE8R )
4) 8005’3@;‘ o8| 8°80% (_‘9’336"0?23 oDH)R D00 BT 20 SFOE Lo SYRQOB.

Which of the following statements
A Under 5 mortality rate (asP¢ o
B.  The neonatal mortality raté was ar

Choose the correct answer : AandB
(1) Bonly @ BOtE i @oa;s'@o& g’ QO/RD wly ?

8oorrest 2022 &° 6956?% K DOB %oa)O( 096 5£@:15 ?0‘@53-2020 (Bs80) QoSrd 28T &ob. -
A o sossre 650 S0FO O s g 1652000 5n0) Hoin 151 605

-5
B ssens 8% ot B (o6 083
e fo:avavm:‘&& DodE Bsooo 45505 BBOE>

1) BamaS 2 &
) @ ‘21 P.T.

growth centres in Telangana fully equipped.

to health indicators in Telangana in 2022 is/ are true ?

sistrati - 28.
mple Registration System -2020) was around
£l pund 15 (as per Sample Registration System-2020).

@)  Neither Anor B @) Aonly

ASBSnBBOEr SN (8) A Sl
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67.

68.

69.

70.

ET

; ana was around :
: tion of Telang :
1 census, the size of popula ()  3.70crore (4  3.30crore

As per 201 re
6)) P 3.50 crore 2 3'4:::,; 50570 0XBdM®
HoeB0, BLOOMTED
2011 e33°g™ ;z,o & o 340 ebe @) 3.708%y @ 3308%
Yy 3505°%¢n i ascending order based on the growth rate of gross state domestic product (GSDp)

Arrange the following years it 2004-05 prices’
of Telangana in these year;, at cozr;i) e o B o s 09

A 2005 - 06

Choose tl;}e Ic)onzect answer(.z) o cD (3) D,C,A B @) R
(él)& C,‘m,§ e, ok BosETres® 2004-05 RE GBS, Booreem dpe oog BAErH)E 5B T sTdom
(Bod JoIS TR, |
ia%s.;olg? %QZS @é)&‘)m; 2006 - 07 C. 2007-08 D. 2008 -09

$B3 S Q) DoDE BASHHW : '

‘0‘3_25 QS AR B,A,C,D (3) D,C A,B (4}7 A,B,D,C

1) GCB,DA @)
Which of the following statements is/are true in relation to human development index (HDI) rank and humai

development index value of Telangana ?
A, In2004-05, the HDI value of Telangana was less than 0.40.
B. In 2011-12, the HDI value of Telangana was more than 0.50.

C.  In2004-05, the HDI rank of Telangana was 8 among the major states of India.

Choose the correct answer :
(1) AandBonly (2 AandConly
Boorrn @Y Sr9S @i %008 %08 00
DB/ 2By ? k
A 2004-05&° Beorren @) S @B "m"i'.)é:&)e»é 0.40 08 SESre sod.

2011-12 6° Boorren @) Srds ©PHB DS e 0.50 Eo&) ST ¢od.

2004-05 &° Boorres @) S5S ©F)B K°08 D508 grEsnEos® Bl @@06‘5 8 &od.

—~3). Conly (4) BandConly
Oy SR @B DS Do $owoRoDS Bob TgwgL:

B.
€
$BS BErEEIR) odE FAHoLw ©
(1) ASB05» BSrED 2 A%Bun CIrED
@) Cow@d (4) BB C Sl

Consider the following régarding Telangana Land Reforms (Ceiling on Agricultural Holdings) Act, 1973 :

Assertion A: This Act received the assent of President of India in 1974.
- According to this Act, the maximum extent of standard holding was fixed at 27 acres

Lanka lands.
Choose the correct answer :
(1) Aistrueand Ris true. ButR is not the correct explanation for A.
(2 AistruebutRis false. gy
(3)  Aisfalse butR s true.
(4)  Aistrueand Ristrue. Ris the correct explanation for A.
8oorre girdofSne (H55ah AL O 1B $628) 50 1973 & 00050 [Bod A HBKBoHD®
BBPES A : & S0 1974 6° 4r68 Toga Gt eFPE0 B0t BACE.
SO R: & S0 (H5°50, 008 eirne Sowofol [Frirdy ShHio 10K 0K 27 DéTeeorT Agawo
e38A08.
RBS SSrgrarR)) dodE Botody : :
(0 Aasp H6a5» R &P, A% REBS =680 .
2  Aadp=dR EXy.
B A&p=AR 2ay.
@) Aady $0a Ragp. A% R&B5 se6em0.

ReasonR:
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which of the following Statemen
e e e sage Ny,

" tals es drinL.: 5 an, :

2 1n2024, the fou - atey e rigag g5 LA Figation Scheme is NOT correct ?
%) , ndahon ston in aray On water in Makthal assembly segment. .
@) The scheme was envisy toe for the ks ANpet and Kodangal segments '

S, " < €me id i .

oo 2¢5-8°K0KeS D8 Provig.. . Was laid in February.

- 58S ©0d) O 80 5 S (i gati°“Wate’finI\Tarayanl;yetamal1<

) % 2 OBrasxg Soet Somogeg . odangal assembly constituencies.
N SomEeS —— 5°5° s 8 o OB Tsaes® DB ¥BKE s 2

& i D Qo3 %
20246° & Besena » Rotes & g, 2 O & HEPS°R) ErDoBoms,

3 i P25 &8 5 §°§‘K)§)&&) &t ©@0B0oTed.

() TR, SEORS wrf o 5O BOOE,
L) 2% g
wWhich of the following statem §U§q§;§°1ﬁ§)&§) ©0B0T[oE & DR ErRroB o,

. ents Y
rices of Telangana at 2017. are . "
P 011-12 ¢ € in reli}ffpn to gross state value added (GSVA) growth rate at basic

try,
A In2022-23 (first reviseq o VSNt prices 7 -
B. In 2023-24 (advance esﬁmates)tes ) Seconda%ector registered negative growth rate.
C In 2022-23 (first reviseq - t';he 9§wm1aie of primary sector was less than 1%.
) fel tary sector registered around 9 percent growth rate.

D.  In2023-24 (advance estim
ates), tertiary .
Choose the correct answer - ; Sector registered double digit growth rate.

(1) Band Conly 2 AB
2011-12 38 Gbe 5, Beorres GEps 2nd C only (3 AandDonly @ CandDonly

Tages” D wdyp ? & ¥0 Gtk Ape Tog Deodd 80 (GSVA) 8 Bend $o0050S |8od
A 202223 (G068 SEO0LS wosmes) 6 BB Goro avereys HED Sant b

B 2023-24 (B006% woditren) & (@8 Sorio 1) Bt 1% Sold Sy 80B.

C  2022-23 (3nBB S5C0DE woSiren) & 69&63) Borio (tertiary sector) 3 9% 9B B S350

3R08.
2023-24 (50085 wodares) €° B Boro (tertiary sector) BokioBe H) Benid STt Frob.

=

8BS JSrEeIER) odY Bakwsn :
(1)  B&o8asn C Sm@d
3) A8 D SoSD

Arrange the following types of nenewgbl
each type in total renewable energy ins

(2) A, B3B8 CSmED
4 C%08c DS

e energy in ascending order based on percentage of installed capacity gf
talled capacity in Telangana as of 30-06-2024 (as per Telangana Socio

. 24) :
Economic Outlook, 2024) B Solarenergy
A. Small hydro power D. Biopower
C  Wind energy '

Choose the correct answer : A CBD @) GCBDA @ ABCD
1) A CD,B 2 3»6;0,@’;\3&6‘355 50055 b8 46 B0b 58 @é&g})ai 6)§'o A 88 Tdc
30-06-2024 &8 Boorred P ;@&géw (@Boorrs FSrEs efs SupdlEo; 2024 s°50)
S0 89 et (B30 P8 58
B. =

A D% e DHEENEE ggo D o&Er80ER0
C 555 oey8

: ' 4 A,BCD
SR Sl DODE 3@51’/; CBD @ CBDA ()

2 s
@ 23 P.T.(C

W ACDB

Z]
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74.

75.

76.

ET

CO] 1s1der € f i })ll lﬂtion (‘(_‘nsug .
i 318 f 20 l ] pO 8¢
ide -] llow mg on the basis O .
” p o 'r] ien lty of popu]ati()n mn I el Igal 1a wags more t]lall three hll[l(l]e(i.
1e densit

Asserﬂol: . Mulugu district has the lowest density of Population among all the districts in Telangan,
Reason R : u .

Choose the correct answer : S s

(1) Aistrue and R is true. But R is not the correct explanatiop, for A.

2 A is true but R is false.

3) A is false but R is true. '
(4)  Aistrue and Ris true. R is the correct explanation for A

2011 s35°g> BKo (HS0B0, (Bod B HOHNBODHW :
BEPES A: Boorred® wsdo(id surt S0 508 JEsme aop,
o R:  Boorns® o) derod®d dnend 2 asdross SENH 0.

MBS SRR Do Sathosko :
1 Aafy So0aw R ap. A& RIBS 50860 5o,
2 AaSp=OR SQy.

G ASHy =0 Rady.

4 A=y $0a Ready. A% R3S s6w0.

districts in Telangana state as the : T4
(1) Mosthungry districts 2 M0§f_ﬁt¢rate districts

() Mostindustrialised districts @ MO?;t;geyeloped districts

TS (HerPse Bogwo &5 125 $oSSG, [Ber¥s® BlBod® Boorn TGOS SoearSIKE S8k P
BRoD A 56560008 ? »

@ o o508 a8 cepes @) e OZoRE SOR% Bepen
@) e 8 TWESSe 8RS Beren 4 erore @a)ase)g DB Bepen

Which of the following statements related to agricultural holdings in Telangana is/are true ?
A. In 2010-11, in Adilabad district, small agricultural holdings accounted for more than 1/4 of the total

agricultural holdings.

B In2010-11, in Medak district, large agricultural holdmgs accounted for less than 1% of tota] agricultural
holdings. £ :

Choose the correct answer : 5

() Bonly (2 BothAandB

(3  Neither A norB (4) Aonly

Boorred® SS5dah Eomrot Q020609 (Bos Tsagod® DO/MH ady ?
A 2010-11 &, eperers Bepss Swdo JRDPAD ESomeere® DR (small) Soaeen 1/4 % So o8 DEHH

™

&I,
B 2010-11 &°, 30658 gerest oo JIOFAD Eomrers® 2 (large) S50 Somoe soew 1% Sod S
&OR.
NBS BSTERTR) D02 Bk ;
@D Bawgd @ A00050 BBokw
®)  ABc BBows sy, @  ASmED

Z 24
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i —— R L R

x ate
(advance estimates) at 20115 S s/,
Primary sector hag COnterOHSta € ,true i
i

: ; Price
Agriculture, livest Uted 1q i
B. (CSVA). ock, forestry SS than 1 /5 of X

ang f h gross state value added (GSVA).

'Shing have ¢ ib
ve contributed more than 1/4 of gross state value added

n .
relation to the sectoral contribution in Telangana in 2023-24

Choose the correct answer
1) B only (2)
2011-1238 80 LoBssy 8%
8oB saseS® DB/ &y ?
A K}?’D"O U"é NN 33,)&0@66
o D
B, SPUADO, BH [0, wesy 1O 1/5%08 stys Semmisotonot.
&oendodomron VOB %
: oo Fipe DoBso Ipe TP Josh mEcHE® 1/4 508 I

B0 DIPEPIY) DODY SO

BOthAﬂl\dB

OCSV“P., ©0Simes e (3)  Neither AnorB (4)  Aonly

© 2023-24 & Boorrss® Borre b Boment Ho0GONS

() BEFID @ A%
8
WBBosr (3) A b Bokr H  (4)  ALeES

g 2 » AaNon 5
(0-6 years) population was relatively mofet'}l ¢ fo110w1ng four districts in Telangana, in which district, child
1 Sangaredd .

] & y ()] Nalgonda @)  Siddipet (4) Kamareddy

L L

2011 235°g® BK® (H5°80, Berormpesst )
9 K) 2 ~
e FHEEOM ISP dod ? &ocs aé‘s&&«‘}i@e»ﬁ) Berod®, D 2ord® Bew (0-6 SosTre SELY)

1 Sorras )
@ @ @ S 2550 4) =Er08

Q

As per 2011 population i £ 3

is/ Eli)l' e true ?p 4 census, which of the following:- astements related to working population in Telangana
A. Wor.king population in Telangana was less thant50% of total population of Telangana.
B.  Agricultural labourers constitute around 21% of-total population of Telangana.

Choose the correct answer : -
(1) Bonly (2) BothAandB  (3) = Neither AnorB 4) Aonly

2011 eseg BE (Bs°80, Boorrnd® 50 T SHutH/Emrerd $oa0odd §ob Tgages® D0/ wdyp ?
Boorre Bng0 axeers’ B B wTeer 50% 08 SEySI™ God.

B.  Beorre Sndo ameerd? Hidrad s BoSB0 21% 1 &I

303 $EPERTeQ) DodE Bohosn :

(1) B&SeED @ A 500050 BBoE>® (3) ASBKoBBOEP 9 (4)  AIHED

] to the service sector’s gross state value added (GSVA)in
Socio-Economic Outlook 2024, Government of Telangana ?

tionand services related to broadcasting

and professidh’al services

A.

Which sub-sector has contributed more than one-third:

2022-23 (FRE) in Telangana, as per
(1)  Transport, storage, communica’
()  Real estate, ownership of dwelling

(3)  Financial services

. taurants )
()  Trade, repair, hotels and 1€ ;@o 2024 (5760, 202223 (RoS® ¥HBODI wosTe) &° Boorrs )
800 (580 oSRE @gé'égﬁw(GSV A) 4,50 $0K0 c'ﬁ‘;)é&fb &% Boko 1/38 $0HB0H I BErBYod ?

3% oK spe oo Devsd HHOD
%] » g)}
1) Sawes, Qex, ééw‘g@éalﬁ < a5
®)  goty, aems aipeiei HOF T
B) 8% Hden
3 BPOORR
W su80, Sssyme, FOR 00 £ |
@ 25 PT.C

4 Dden
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‘

, dnke licy decisions wag .
81.  Which of the following industry relate d policy S not taken in 2014 by the Governmep &
Telangana ? 7 = .
) ldm"l"“‘llin ;ana State Industrial Developmentand Ifﬁtr(,preneur Advancement (T-IDEA) Incentive scheme
8; Tt ];ll;”ﬂ‘la ;%tato Programme for Ra pid Incubation of Dalit Entrepreneurs (T-PRIDE) Incentive schemg
el s fx AN
ntrepreneurs (WE) Hub

3)  Women Entrepreneurs (WE) N—
54) New Industrial Policy Framework for -‘?t;li”f I‘é*g‘%;\Na o

' " 08 SoBo S » 2
Boorres ({4080 2014 & & (Bod O OB ° W0 VRS BastEs 9

% 0 $00> BUSDES HEHS (T-IDEA) [BPaes38 S50

(1) 8worres ooy 0(EWE ehi " o e
() S0 Ao KOEKBS SWrt T BOOT T (D808 (T-PRIDE) (@fmeyses Si580
@) Dodewe algomrhe Solgo
(4)  Boorres TIPS K J0EaNE DGO

82. Match the following corporations established by the Telangana government with respective weaker sectiong.
Name of the Corporation Weaker Section
A. Santh Seva Lal Corporation I , Adivasis
B. Komaram Bheem Corporation L.~ ~Erukala
. Lambadas
Choose the correct answer :

(1) AILBI () AILBI () A-IBI (4) ALBIO
Boorre (Hehdo Ao Dk 8od SEHBEED T8 pelns Sro8® 855550 |
TOHVLS D w0l $o

A %08 Darerd SO
B. 555 S 955)6&’15

5% HITGEREY JobE Tk :

(1) ATILBI (@ AIILBI 4 ALBII

83.  Consider the following statements relating to Hyderabad Disaster Response and Assets Monitoring and Prote
(HYDRAA/HYDRA) agency : 4

A TheTelangana government has established an integrated unit for disaster management.
B. Siddipet, Sanga Reddy, Ranga Reddy and Medchal-Malkajgiri districts and Greater Hyderabad Muni
Corporation area come under this unit.

C. HYDRA will have Separate units for asset protection and disaster management,

Choose the correct answer 2
(1)  AandConly (? AandBonly
(3) Band Conly 4 ABandC

ETErE DS )05 8% 830 %
5O HOKBOYKW

A DBKH A5 E6 Boormrg (980850 8.8 38 AOrDSED JT)E0 TR0,
B 2w, Sorrag, BorB8 ook

)5 -He7EAE Bepes 2O {65 Irtoeers SQNHS s8N0
' O 50668 S, i - bt

C eRo 55e% bk NG e PO 858 aSoDdeSen ATNHOW.

5338 oBasw H08Ees (HYDRAA/ HYDRA) N8 KoBoGods

S8 HmereR) D0BE Aoty -
(M A8 C Kool

2)  ABcio BLw@dH
() BXobcso Csmigsd

@ A BSOS C

Z 26
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ange the following crops in g ' .
&rrgvifional): agcendmg order based on area under each crop in Telangana in 0023-24

85.

86.

ET

Red gram in vanakalam

A
c. Jowar in yasangi

Choose the correct answer :

B. Maize in vanakalam
D.  Bengal gram in yasangi

. ELZ;,Sé) & 300(:3 @SB/ oy @ A ﬁ, D,C 4 D,CBA

2023-2 & ©S” 8od Hose Bots ey Dhgo egrrorT T st (550065 @HBIW -
AT 08’ Eod D VN

- e ’ D.  aiwgoh seood® 331 (bengal gram)

%3 HBPGEIPR) DodY Bosodn -

(J/) C/ D/ Ar B (2) B/‘ A/ C[ D (3) A., B, D,C (4) D, C, B, A

Which of the following statements is/ are true in relation to oil palm cultivation in Telangana?

A Withthe goal of diversifying crops and i i .. +is ambitioust
promoting oil palm cultivationpin s lsl’git);‘ovmg farmers’ income, the Telangana government is am y

B.  Thetargetfor 2024-25 includes covering 2 lakh acres under oil palm cultivation.

C Action plan for 2024-25 to 2028-29 aims to cover 3.5 lakh acres under oil palm cultivation.

Choose the correctanswer:

(1) Bonly (@ Aonly

@ AandC only @ A BandC

Booreend® Eeand (oil palm) rHS Konohod (Bod awses” SB/R wdp ?

A Hote S TR FHoUE0 THRTP 55530{553@630 eSTPasPR) FEHHTES 008", Boorr (HeHEo
BTGB G0N Boorrnd® sowd &S FRIHD (DE&RT500. ,

B, 2024-25 88 Botd ofp HooH sowd 35 ik (BoBS SroHoared (BEhEo OF5orT DEHOL.

C 2024-25 5008 202829 & Ko@OGODS STt (HerdE 3.5 ofe STk soNS > FiHd ot
Sotorared edchorr weRHod.

8BS JErErrQ) Qo oS : ik

1) BSRED Q) ASHED

(B) A0 CEPED @ A B3BC

As per the Census of Land Holdings, 2021-22, which of the following statements related to land holdings
Telangana is/ are true (As per Telangana State At A Glance, 2024) ?

A.  InTelangana, the marginal holdings account for more than 2/3 of total land holdings.
B.  Large holdings account for 1/10 of total land holdings in Telangana.

Choose the correct answer : :
(1) Bonly (@) BothA and B ()  Neither AnorB @) Aonly

SRR Kead (girSdozreo BEHED) 2021-22 (Heb0 BoorPnd® grEHEre Koofody Bod Typgos® OB
adp Boorre S S  ER), 2024 [Hse80) ?

A Boored®d Iwdo sipgmros® 608 SEe 2/3 $08 DS aTA.

B.  Beorrns® Imwdo srssmes’ D8 (large) 5080 1/10 T &Y.

8B SERGPR) oBE BwDw :
(1) Bwgd @  ADO BBodr (3) A SdcinBBorr SR (4) A SE

Z | 27 .
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ments is /are correct with regard to Information Technology (IT) exports in2022-23,
87.  Which of the following statemen Telangana ?
as per Socio Economic Outlook 2024, Govt. 10f31 4%,
A Telangana’sIT exports grew by nearly by about 22.36%.
B India’sIT exports, onan average, grew y
Choose the correct answer: 0 Both A and B
(1) Bonly ) A only
@ Npiler inorh o 2024 (Hs°80, 2022-23 & G5t Poads s 00ROV

Boorre (HgHSy PLrRE w08 SO

8o argages® DB/RD aRp ? £ Y =
A @oorre @) Ererd R JOELLE] N0 %750 31.44% 20reow.

b rSSBE e RGBS AHHELD A0 S0t BHKe Koy 22.36% DO

8BS WEPEETY. Do Basodw : :

@) A0 BBoEr 5% @ A Kool 83D
GSVA) at basic prices of Telangana in 2023-24 (in constant 2011-12

88. The growth rate of gross state value added (

prices and advance estimates) was around : » ”
1 5% @ 7% @) 12% (4) 660363606» o
Boorrad 202301 & eges §Eo8® $x0 OF Denss HoboDH B Do (20111283 atel 05
©0oSTeen) X : )
(1 5% @ 7% A= 12% 4y 8%

89. Which of the following statements are true in relatigﬁio the shares of allied sectors in agricultural gross state
domestic product of Telangana in 2013-14 at 2004-05 constant prices ?

A Theshare of crop husbandry sector was more-than 50%.

B.  The share of livestock was less than 25%.
C.  The share of fisheries was around 10%.
Choose the correct answer : :

(1) Bonly (2 Aonly )
2013-14 % $05EBoS® Boorre Do SSarad Jpe. )
Borre rered H020509 Eod as°§ao5e>6s 0 adp
A SHobe 20SE BoKo e 50% S08 KIS GoB.
B. %% %056 (livestock) arer 25% S0l &) &ob.

C. &g 30D (fisheries) aeer Q038 10% e &ob.

8BS SSrerarQ) Qods Boswsm "

(1) BarEd 2 AdeED () Bban CSHESD @ A BS0OSC

B and C only @ ABandC
B8ArEBS° (2004-05 1S ) SR ©dnol

90.  Arrange the following age groups of population o%*i—l“féléngana in ascending order based on population size of
each age group in 2011 as per the data provided in Telangana Statistical Abstract-2022 : '

S B.  10-14years ‘C. 15-19years D
: - . 20-24
Choose the correct answer : - 3 y years
(1) A’ C’ D’ B (2) AI DI B/ C | (3) D/ B’ £ &r C (4) BI CI Dl A

%e;ogg) J@;&:’géé ?5@5-202266 9B 58030 (B0, (Bob aTPgP SAD) KSR, 201168 Booresd
) &) Samieo @) a3vee $0Ere0 eprdorr, 68 (B0 ©ft)sm :

A 5-9%05&ren B 10-14 505 (
i . - yoren C.o 15-1980d&oeen D, 20-24 8
W8 BErGrIERY DoDE Baskodn : = ’ e

1 ACD,B y)
@ ADBC B) D,BAC @‘B,C,D,A

ET
; z 28
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nge the following in asee, ..
adg(GsVA) at current Priceds go

AIT

rder oy,
agzd:/ Government of Telangana .1n 2023_2 4 zhe basis of their contribution to industry sector’s gross state v alue -
2 Construction 2 Vance estimates) of Telangana, as per Socio Economic Outlook
C Manufacturing B, Electricity and utilities
Choose the correct answer ; D Mining and quarrying
g BASS @ Cpp,

(3) D/ AI Bl (: (4) B/ D/ At C

Foorre (HE0E50 D) Loy ©B 5,
g0 RpO TF D0 DBoHet §oe 6?:{)@5@2024 (Seet0, 2023-24 & Boorrem F6mIns Soko G H0S
A QoY Borso P gsc‘;)&» strdore, & Sorrod etfig ioh 2955067)55.
C 058 Boiso B, D5 KBS BHETrPend
5% BEPGEPR DoDE Fatwss ; D Kioen 598050 Sggren
& @ BACD @ CD,BA
2 ® DABC 4. BDAC
nt 2011-12 ustice Bhargava Committee was ’ .
1 11) To suggest methods to all SEBCE s (in relation to Telangana) for which of the following ?
. . ’ 'o.cate more funds to backward districts in Telangana
. )  Toestimate the fiscal deficit of Telangana
: 3)  To calculate the surplus funds of Telangana
t s
@  Tosugges modgh’aes for transfer of resources from central government to Telangana
3 2.7
gross statd Boorred 5020500 2BT 85 EéY 1969 6° 5 6350 5550 DXOT ?

(1) Boornd®d IHERES Beros s Ase FeronoKH% SRIBBOSIONS HEGHOH KPDOBErS

() Beorre oY) (5SS %605 ©oSar Scherad
J O 8Soorrn Gws) rbes Aheis B8
| @) ol (Behito $008 Boorrent SHHHL aieronod BHRBORS SO SPDoSErY

0208 B 9. Whichof the following statements is/ are correct on irrigation in Telangana as per the Budget Estimates 2024-25

of Government of Telangana ? .
A Major irrigation was allocated more funds under revised estimate for 2023-24 than the budget estimate for

2024-25.
B.  In2023-24, minor irrigation wa

Choose the correct answer :

s allocated more funds than major irrigation under revised estimates.

) (1)  BothAandB ) Bonly
c | ® Aonly (4)  Neither AnorB
size of Boorres (Hgheko G 2024-25 ee5 @OIRPO 0, DO ForseH SowofodS Bod Trs® ORI iy ?
? A 202300t 556008 oo, 202425 8§S oiTe Sl ST Rrd 88 Sxiiei Remsaiio
BACB. : .
i i *:02:2‘1 ¢ cxons w0 U0, b 86 Hits ol s %) DB i Ao Berawoisoo
% : %80 -’
st | 2BA0B.
VB3 SSrgreR) Do BokwEw : 0 BarEd
i
ES; A SoBcso BBok® @ A Lo85» BBoKT 50
Ao

4 @ 20|  PIC
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ies with proposed budget for each category in the Telangana state budget
enditure categorie:

94.  Match the following exp
for the financial year 2024-25 : Budget Proposed
Expenditure Category 1 Rs. 2.91 lakh crore

A, Capital expenditure i Rs. 2.21 lakh crore

B. Revenue expenditure m Rs. 1.31 lakh crore

C. Total expenditure IV‘ Rs. 0.33 lakh crore

vy Y B
Choose the correct answer : % (3) AL B, C-I (4) AIV,BI,C
X IV, B-1,C-I e
e e oo BRSO B30 B> O (560D S5ahod’ IS,
2024-25 Q8 Jod&Bo k) B62E00S a)§65

A ?ﬁﬁ;ﬁ chﬁ;o L 291 080 ?Q Baecsen
B. B3y d5oo I 221080 5% Searaben
C  Sw&o Sgapo m  13leoge éﬁé(g, Eroarasen
) V. 033080 8% Srdrabhen

JBR SIPEPTeR) JodE vk : :

1) A, B-lf,lc-w 2 AIV,BLCI .- — (), A-LBII,CI ) X
95.  Which of the following are the educational schemes introduced by the Government of Telangana ?

A. Amma Adarsha Patashala (AAP)

B.  Prof. Jayashankar Badi Bata

C. Society for Telangana Network (SOFTNET)

D.  Advance Technology Centres (ATCs)

Choose the correct answer :

2) Band D only
3 Eaamn ® ABadCony
Bod =8S° 0 Boorre [Heheko BREEAN Qezg. Sefseen ?
A ol ey Fozo L
B. (B8 2003086 @& eméd ——
C &8 6 8vorre 3¢556) (SOFTNET) *
D Jo%s) 8590 2o6d) (ATCs)
$BS HErr) odE Fakodm ; '
(1) AB,C6c50D 2). = BBk D S

A-1V,B-1I, C-I

B) A CSHED 4. A, B350 CsmgD

96.  Which of the following areas in Telangana are:_i E,é?t;l;t1'fied for eco-tourism in the Telangana Budget 2024-25?
A. Amrabad tiger reserve B.  Begatha waterfalls C. Kanakagiriin Karimnagar
D. Kinnerasaniin Kothagudem E, Kuntala waterfalls
Choose the correct answer :
(1)  A,B,DandEonly (2 B,CandE only
@) A,CandD only 4 A DandEonly
Boorredtd (Bod & ($Belh Boomrs OGE 2024-25 &° Soogsites Soegeol (5B seenre 8o ?
A oEreeE BrE uly B, &K asodoaren C  88o5r68% s35a6
D.  ®&rrRost 85530 E  Sotre sodeen
8BS SSrerarR) Do Hcsosn :
(1 A,B,D&boo E Smgh (@ B,Ci5Bcto E (g

’ ) A CHB8c DEmgDh @)~ A D$8oin Esmgd

97.  Asper2011 population census, amon the follo i :

of urban population to its total pOPulgtlon ‘(/)va(;‘glqag ke Heangan, inkich SHSIKICH; e percerniiy

(1)  Rajanna Sircilla @ Mahabubnagar — (3 Karimnagar 4)  Mancherial

2011 esxoge o (H280, (8ol 5% & Py )
: RGN BOOPHE®D) wrenth Beves® S @ 60
BTG T80 PIELO S dop 9 e = R o3

M) ey 2620 @) Srarssss @) 8boxKs 4

ET
Z 30
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9.

. During 2014-15 to 2023-24, the debt service burden of Te

ijch of the following statemen iy
s s ., out .
Other eligible beneﬁmaries wi Indlramma Indlu (housing) scheme of Telangana gov ernment is correct?

. " )
These houses will be of 409 Sq.ft. wi Tovided Rg. 4.20 lakhs for the construction of houses.
The gover nment proposes to - WithRee roofing, kitchen and toilet.

; Under thi§ scheme, finarICial acs(s)'nStruct a total of 8,000 houses in each constituency by M arch 31,2026.
construction of houses, istance of Ry 5 lakhs will be provided to the SC and ST beneficiaries for the
goorees (HEHE0 B0 ROBBSY &
) Cletd BOAS 18d O B0,
) 522 PEJY (roof) & Loey
@ 2026 S8y 31 B8 (H8 9
@ NG Ereren HoBako
©0BO0WEL0 BBNDLOH.

0
@
3
@

:i’ :(0&: ROR) Hrserns Bowohodd Bob srmsed® He ady ?
ﬁg :De&mo 6% 4.20 ofw EraPdie ®060H60 BlhlHE0k.
" 6605:;&536)&5‘%36 BpBd &8 2ty 400 585555 wthirihen GosroD.
oS 80S° Jndo 8,000 mtfy BTV (Hghdy (HHIPLL.
AR Ta0) ofrrser By JTYEBRO 5% 5 ofo Crarchy wgs ESFelosle)

which of the following are corr: ;
Telangana ? ect with regard to the skill university being established by the Government of

A Itisnamed as “Telangana Skill Universj p
. 2 . sity f X 3
B.  Itis established in Mahabubnagar districtyt s

C Itis decided to offer certifica i
Choose the correct answer : te, diploma and degree courses.
() AandBonly & W,
3) BandC only Y B..c
Boorres (HE0E50 o VK Sdesg DHITROAFIE Homohod Bob T8 & 52 5359 7
A 08 Boorre S eSS H5 BSY 6 FrEEsno TR,
QR Fo5eerSINE Beps® Homyen BT. P as |

B.

. &dpEr $Bc & e e-oo&oé;

403 SETERRPR) DoBE BV :

1) AHBSH B Swe(ED ? e

) B®Bakn CarE 9 A anC

] riggana state (within budget) has grown at an annual

average rate of about: .
1) 16% 2 19% 3) ==22% @ 12%
2014-15 Soo& 2023-24 6’3365?35"@06‘5 Boorre T°g Qe B grdo (@G SHo) S VoHEPE Bied DBorbEe
Be ooetiore : .
M 16% @ 19% @ 22% @ 12%
- Which of the following statements aré true in relation to the control of environmental pollution ?
A B i implementing laws, government can directly protect the environment.
y enacting and imple & protected from extinction.

B. By using Safe Maximum Standards, critical natur?_‘l resources are

Choo : —_
a0 s; t(l;jl ;orrect answer : @ A and B both
®)  Neither A norB @ 2 011,11%' : &
o0 800 yedt 99 ey |

Sorses Seenico Doholseath $080 M )

A @%égo&iwe» ;5;:@0 ByBA50 BIOD 55520 TROP HTeRHBETRY HSFEO™ oaaégoézﬁ:g e

B« % P 4 BPA0E) 8T Wiives o0 ©OSB0Y) DELHOT® SPARLE0 & o
- 6B Koy [smeren @ HEOV &2

R et Qobs Do |

(1 Bm@;&& @ A@Q;‘; Botr

8 A%Bom BBokr 52 @ A

z 31 P.T.
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. s ?
Jated to the concept of economic growth is/ are true ?
102.  Which of the following statements relate d to (GDP) indicates economic growth.

: duct
: S estic pro \ .
A Year to year increase in gross dom opt where in we can measure it

B. Economic growth is an objective conc
Choose the correct answer : %) AandBboth
1 B only 1 i

53; Neither A nor B * y

DO[D vy ?
. 5 1806 53008 Q)@G ‘;)&/ o)) " “
xR ?é§§a§°iii°§o;§°m%§o@g igo SERruet (GDP) £ Biorotse 6B HFD 00,
A =8 [¢] ¢

B QS 0 6dd SorEcs (objective) 75 BV FOSERDS Hevotnob.
Q@

RBX JIrGRaeQ) dODE FA0Sw

M Bé}o@‘ﬁ)& @ ASBcn BBoky

() A8 BBoK® = @  ASrED

10 ;Z;\:;g(;tie f0How"lfzgcl.1110logicad backwardness is one of the features of underfi eve!oped C:;Sgiii problem of
ReasonR: High level of capital formaﬁgn in underde‘{eloped countries failed to 0
technological backwardness in these countries.
Choose the correct answer : £
(1) Aistrueand Ris true. But R is not the correct explanation for A.
(2)  AistruebutRis false.
()  Aisfalse butRis true.
(4)  Aistrueand Ris true. R is the correct explanation for A.
Bod =8I H8KBoHZW :
(BEIPES A1 P08 IhLerendso 30 WD Bob Tero a8 oFmo.
8o R O Boas derod® &%) A 3;0:0 QPSS SoSehiso, & Berodtd FoIBE Idrerensso
S8 H0BoSTEDEaN0B. oy
SBR SSrgrae) o Bahosm : e
1)  Aadp H6c» R 2.3p. 5°0 A% RIBS D5es o .
@ Aadpsw R &y,
B) A&y Rea.dy. :
4)  Aagy 58c» R 2.8p. A% REBS D58es.

104. Which of the following governmental portals is related to—}and acquisition for highways ?

(1)  Bhoomi Aadigrahan (2 National Highways of India
(3)  Highways land acquisition (4)  Bhoomi Rashi

800 86° 06 Trdo S0 e HEBR HonoBONS (80 DS 2

D 2 ebSH : 2@  ar88 ep8ohH Bemeten

() T3 ool w8msS @ o3

105.  Which of the following statements

B.  Around 79 lakh People migrated to Maharashtra from other s

tates/ union territories
Choose the correct answer : =
(1)  BothAandB (2 Bonly_
()  Aonly (4  Neither A norB

FEEBE0E™ S 2011 BTGP KerosPer)
A ool 4808% $08 (Saen a&%re &8
B, ooy 79 ofo $008 288 ooEpen/Soles
B 6@&@&)& QoY FKwSw

D) A% BBo&»

B Asmgd

¥0m0BodS ok TS’ DB/ $B%a/D ?
R0 188 TIFoDH o Jgne.
08 (Frorreod PGS Sers ST,

2 BsmgdH
@ A8 B3okr w0

ET Z
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107.

108.

109,

Ey

106

eRi hts of Persons Wwith ;

- Disahy:1:
1 I; 50NS with disabilities (Pwlsgblhﬁes

LSS A
Right to equality ) “Njoy 2016 Provides the ‘
sl mity es that the appropriate government shall ensure that the
Respect for his / her :
the correct ans . Ntegrit
Choose nswer ; Y equally
w BerdCony
,Ban
3 S S ) Conly
persoroe T S0 2016 ey ). AandBonl
OB T %50 808 o
8 380 aaegorden wgdoderfeiotoder #5 snob

B, FERDEDIS B0 550
L. 285908 JSrSomr 5%
0% BLIPGPIPRY) DODE Vot -
@ B 0805 C S8

@y A, Bo8asw C

5N

4 Ao BEEED
Asper the “Prohibition of Employment as M L
scavenging prohibited in India ? e

1) December 2013 @  June?2015

SCavengers and their Rehabilitation Act”, when is the manual

« 3) January 2016 4) May 2013
g Do SFH Jiy ( ry "
P JadoSn&od ? W 0 276 e K07 Beeto, FEETEo8® Srdndd FBoRon

() 82062013 () @=52015 < (3 w80 2016 @ 2013

ZV}lllerl?a(l)f ;:h e following terms captures a situation where migrants maintain their rural base and migrate periodically
0 ? ‘

1) Seasonal migtation

(3) Dislocatory migration
SosTEtoen S50 (TPades FSTRY, 5RO,
8D0HE[00 ? |
1), Gsmrd Gasd) Sl Q) Sod Soi
() BIE"Bed S @) r5FEed o8
environmental pollution are true ?

forms of environmental pollution. ,
in environmental pollution level in atmosphere.

ozone layer depletionis taking place over time.

ill”

.- Circular migration
(@ Translocatory migration
Koeorr Higes (PPoTro B 3€) $0638 B0l =& 28

Which of the following statements related to
A Acid rain is one of the most dangerous
B.  Global warming problem is due to mcreasg 7
C. Dueto rise in pollution Jevels in envuon!éfn )
Choose the correct answer : @ A and B only
1)  Band Conly n~ AandConly

366” o H0 DI BHeood
. ©ap SO o360 ©8 B oo = 5E0 Saee0rT grEeRo SRR QBBHF0B.
o050 &

®)  A,BandC éﬁ dan D
’ -538) ey
SomgisiSes 08 omopod B8 T SRS ot 0.8 B0,
SISV RS et 593 )
b ameeseeo (atmospherd) S T o SO T Kad g L& 6 §8i00.
@ o = a"O)J 2
SoesSea0s® SPe0iC o

B8 Sisorpaegy DobE DAV o A m;ﬁz E i:gi’
) Bososo CEmESD @ A .
B A B C @ [33] PTO.
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110. Under which schedule of the Constitution of India,

111.

112.

113.

ET

As per the Tenth Five Year Plan, Vol. 1,1

s /urb
urban Planm‘ng is the function of urban local bOdle / an

development authorities ?

(1) 11t Schedule 2 10" Schedule ©®) 8" Schedule @ 12t Schedule

B58 Tesorios’ O Rtk @erto, Sy T OI0 S seey Sogefsgmig 9050 29 %
1055 8sS @) 85 e @) 125 uirsS

W 1138 S )
lanning Commission, mateh the following poverty categories with thejy

poverty ratios for the year 1999-2000.
2, s
Poverty category Poverty ratio
23.6

A.  Rural Poverty L

B. Urban Poverty 1L 24.6

C Combined Poverty m  26.1
V. 271

Choose the correct pairs :
(1)  AIV,BLCII (2 ALBILCI
B)  AIV,BI,CI (4) AL B CH

DED HOWHY, (e, eoego-1, (HeseE J0I0 (5080, 808 £56H8 BBKHe s> 1999-2000 BoLET Ve 8

DE0E &)%e‘éwé’s 2SS ¢

DEBE SBik® 2e50% 303)8
A (e DSBS L 23.6
B.  Hges 1sdZo oL 246
C &l (SoBof) HEsso I 261
I\,

$BS 23805 0DE JSoSw :
(1) AIV,BLCIO

3 AIV,BILCI @
Articles 25 to 28 of the Indian Constitution indicate which of th o]lowmg 7

(1)  Freedom of religion (@)  Equality before law

(3)  Affirmative action (4)  Freedom of speech

gP5E Toarsorfod® 25 K08 28 $5H &%) 06580 808 8S* B Kra%0d ?
1) s a‘sré’). (2 S&o Swok SSrHE0

B) Iy 58 4) =8 JgBoEso

Which of the following statements about ‘Pey Jal Survekshan’ (P]S) is/are correct ?

A It is launched as part of AMRUT 2.0 mission. ¢

B. It intends to encourage healthy competition among gram panchayats in the quality, quantity and coverage
of water supply. ;

Choose the correct answer : :

(1) Bonly (20 BothAandB

(3)  Neither A nor B (4 Aonly

D w8 SEHL’ $02050DS 808 Tsagest HB/HD $BIL/D ?

A 6D 58 2.0 (AMRUT 2.0) 5568 grorfore (8080,
B. & S50° oreagd, $08mem0 S8k 858868 (e HomrdhBe Sk ST SRR Doeogromred
2l &G80008.

BBK SEFGER) DOSHE s :
(1)  BSrEd @), A BBor

@)  ABasw BBokr s @)  ASeSD

2
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114

115.

116.

117.

ET

atch the fO]lOWlng mortality ; .
ty indicat, >
gurvey 2022-23 ors with their rat - . . ;
Mortality Indicator ates (per 1000 live births) in India in 2020 as per the Economic
~ Infantmortality rate Rate
B. Neonatal mortality rate III 20
. 28
Choose the correct pairs : oL 32
() AILBI 2 ¥
2022-23 @gé ﬁé‘s (DseS0, (2())20 @“? :;g;lél 3G ALBI (4) AILBI
285808 $06) 8ot Ktere “rDEOD 8 B8 (9B Somg H8D adTOD)
Sobere JedE ém-
B. $Hepd 3% Hodere Bew I 28
m 32

8BS 280 odY Vakom : Y

(B AR @ ALBI @) ALBI @ AIBI

ﬁtﬁ;h?one of the following measures generally addresses the problem of income inequalities to a certain extent in
(1)  Subsidies to large industrialists

(2) Removing social security measures

(3)  Relaxing control over monopolies

(4)  Progressive income tax policy

& Bod SEeS® DB SEEDE0S® erradh evdETdde $oP Fod DY HBK5PKOd ?

1) 2y FolpESges e siwo 5

(2) rodos e S5O BBV0TOOBL0 . 3
(B) DEJRFOR Ddolgesod JEdoBEOo
@) DB e e B3y Do

Which one of the following concepts of unempli €
employed or unemployed or outside the labour-force ?
(1)  Current daily status (
(3)  Usual status “)
& (Bob D 5B P gTSS @8 58 aatge, D
B0c%H Bod ?
1  (BRE Brerard Jow Q) (58 Josed Jorde Fow

3) Sogetses g,som e @ (B Fvled 3;00) (status)

Which of the following statements related to New Human Development Index of United Nations Development

UNDP) is/ are true ? i
I;:ogr alr'?il;l: éeom etzic /mean of three indices used for the construction of Human Development Index.

B. New Human Development Index is introduced by the United Nations Development Programme after

Covid-2019. .
gl)loos% t(l)\ﬁl;onect angwWer: 2) . AandBboth

3)  Neither AnorB )" Svonly p
;; e 23); @&;e)& $i580 G0E) Lol SRS AR $eD%% $o2ofodS Bod a%asgvée DB/AD sy ?
[

A S5 0BHY B0 A8 =elcY &HRRAODR Soetsy SreDEe o) HHessoRs00 (geometric mean) SS3
[~} .
LSS @DHD DL 3 . y
B. 5952019 g%é E5oves AN @ﬁ)a‘)e)g;‘écééo (UNDP) KBS $odd 0HY PORTAR) @5%’33%05.
8BS SSTGRR 0BT Bsodm
1) BEwED
(@) ABcso BBor 5%

A $50055» BBowe
@ A Lol

[Z 35 P.T.O.
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118. Which of the following is a non-economic factor that hinderg €conomjc development ?

119.

120.

121.

ET

(1)  Monopolistic practices (i) i/(I)Cial afld Cultural factors
()  Pricerigidity factors @) arketimperfections

& (800 O wgEsEs 580 QTGO w08 SEKY0E 7
(1) omesE sEme @) 088 K50, ol s
() &8 s sy @ %S wisospgises
. i . i ears:
Arrange the following welfare programmes in India in chy onological order based on their launChmmmgg
A Jawahar Rozgar Yojana B. Integrated Rural Development Progra

C. SwarnaJayanti Gram Swarojgar Yojana D. - Swarna Jayanti Shahari Rozgar Yojana
Choose the correct answer :

(1) D,AB,C 2 ABCGCD ®) " BAD,C @ CBAD
Bod Kogs SEsress 89 (B*B0foDS BodE)o errsom SPOEIrRFTB0 @389)30

A aB85E BEmE @ress B 58 mdoergigyp S0

C g 208 (e $EtSmE doress D &8 w0008 208 6°8meE e

IS DBPEETR) Do Basosm :

(1) D,AB,C @ ABCD (3—-B,A,D,C 4 CBAD

Match the following environmental acts with their year of enactment :

Environment Related Acts =x, Year of Enactment

A. The Environment Protection Act e, L 1972

B. The Water (Prevention and Control of Pollution) Act - 1 1981

C. The Air (Prevention and Control of Pollution) Act - m 1974

D. The Wild Life Protection Act { * IV. 1986

Choose the correct answer : : S

(1)  A-LB-I,CIV,D-II (@ AV, BII,CI,D-I

(3)  A-V,BII,CJ,D-II 4  A-LBILCIIDIV

Bod Soess8es BEPODH @ BB ErHo TeO)S (enact) DOBEBI0E" 3e558HB.
TIJGFS0 TS JoSSvo
1972

So%SEes Sool 65%30

A So%Ees Eslelef = zﬁéé))o L

B. 8 (srenssy Dawises 59850 Dabo(ges) Se30 I 1981

C md (sPensy Darden HoB%w Qado(ghen) Sevo o 1974

D 55 @we S S0 V. 1986

BOTHS ey Aystol. > |

(1)”  A-IB-II,C-IV, D-IIT (2  A-IV,B-II,C-I, D-I

3)  A-IV,B-II,C-I,D- 4)  A-LBI,CI,D-IV

Arrange the following years in ascending order based on India’s Human Development Index value in each
ear:

X 2019 B. 2021 C 2022

Choose the correct answer :

(1) AB,C (2 BAC B ACB @ BcCA

808 K0S TP, & $5058 3 Qend -

E«'\. 2019“) gmof Wszéi)azf SRS mﬁ)éc. 2:9;2"6@“ # Esost R

B SErErTY) Do Bctinsn - |

1 ABC 2 BAC B) ACGCB @ B,CA

<
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A, Converge acrogs leve
C. Competition among - '
Choose the correct answer : o elterationbeie g
(1) A,BandD only

(3) B, CandDonly 7
g8 (B80S SRBKIS &

Corporate social responsibility

@ A,CandD only
9, Ar B d
@5,) @6@’0 - and Conly

Bolifsrarom ? §&e.;: o~ ADP) & grrom 3C ey Bob a&Et O wozen
. @a%ég T S oo B, oohBe e antiys

C TR, Bere oGy D ' o S

8% ‘é&’)}vm"m&)& 0B Bty - D. P8 $Sra0 L0 [Dgheko Sty Hreeo

1) A B%0c»D '
(3) e (& @ A C%8cm DErEDH
() B, C0Bc% D S @~ A, B 50050 CSmED

123. Match the following dam / projects with their 'fégi)ecﬁve states :

Name of the Dam/Project State
A.  RengaliDam L Gujarat
B. Ukai Dam I.  Maharashtra
G Bargi Project M. Odisha
IV.  Madhya Pradesh

Choose the correct answer : _
(1) A-ILB-IO,CI ) AINBLCIV. () A-JLBILCIV 4 AIV,BLCII
80b wyFEQeH T8 Sonohs TEPod® eES5508a.

wsed/Erag 26 Tgo

A, Torrd &g L eSSl )
B.  éseom o L oy
C  of ey M a8

V. ousds

[0S JAreGrae) HodY Bsosw : :
(l) A-IIL B-II, C-1 2 A-OLBILCIV 3 ALBHO,CIV 4 A-IV,BLCIO

124. Which of the following are the social security welfare schemes introduced by the Government of India ?
A.  Atal Pension Yojana (APY)
B. Pradhan Mantri Jeevan Jyoti Yojana (PM]]Y)
C.  Pradhan Mantri Suraksha Bima Yojana (PMSBY)
Choose the correct answer :
(1) AandConly 2 B anc(li C}; onnlly
3) ABandC 4) y ;;; é;so z) ;
B0 BSE DO eSS (Hg0EI0 H3TDES FSreE & .
A oS DS Borad (APY)
B, (SG 0@ 5% &e @ress (PMIJY)
C B So® oy D @red (PMSBY)
$8% $SrGRaeR) oY Fasow

(1) ASoBas C S ) B:»ec:; iiﬁi

3).- A, BB C 4 ADD

o Z S e
4 §
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125. Which of the following is/are the hig

126.

127.

ET

hlights of the revised ‘National Rehabilitation and Resettlement Policy'

4 . f India ? )
2007’ of the Government of Ir if posS|ble

A.  Land for land as compensation, 1f | ’
B. Principle of rehabilitation before dlspllaclt‘ment

G Policy covers all cases of voluntary displacement

Choose the correct answer : '

(1) AandBonly (2 Aand (d oCnly

(3) B 0111y (4) Ar B ?n - A £ 20077 @)é& mwéo'go(
808 TAS® grises @2536503 ¥30050&S “HH OFIDOTARS 505w HiSTeard DGPOO . &)
B/ ?

A DBE g8 g HB:sEBorT Bsiio
LR (EoFoH 0o HPYTE Qahsoo

B.

C écsz:ﬁ‘)od 53526@50%0 ) &) Food & Jgrdo 8H6 3@0&
$IBS BSrErae) DodE Fahosm

(1) A8 B S (2 AL C HeEsdH
(3) BIwED 4 A BB C

Which of the following are the salient features df National Educational Policy, 2020 ?

A, New curricular and pedagogical structure (5+3 +4).

B. Equitable and inclusive education.
C.  Increasing gross enrolment ratio (GER) in high

D. Light but tight regulation.
Choose the correct answer : T
(1) A,BandConly (2) Br€andDonly
(3) AandDonly (4 A/ BandDonly
808 8S° wdadh Doy DeESo 2020’ GnE) Swag OFEESd O ?

A EE Fogomen S0 ST 9020 (5+3+3+4)--
B. RS £rbahn S0 Dess ¥
C &8 255 Kpo ST DA 60% & DoSK:
D. 80¢ 8 20 58 daodes

8BS HErEreR) odE Baswko ; :
(1)~ A, B85 C Sm(&ah (20 B, C%085» D S

(B) ASB805» D Sm$H (@) A,B 085 D S5

Which of the following statements is/are true in relation to the environment ?

A. Kenneth Boulding, by observing the problems of degradation and pollution of environment globally, called

the Earth as ‘a plundered planet’. &
B. The environment encompasses all the biotic a ab{oﬁc elements on the planet earth.

e Environment has physical and biological dimensions only.
Choose the correct answer : Y
(1)  AandBonly @ B
@) A BandC @ Ban
Do BeR8 Bowogod (8o TS HINTAYAT a5y D
A @%0d Invgo DS LKD) BT Aed Dy 5

g & 500 §rd BBAR0 SoSSe Sendy Bsion $as i

88 FOoR & ‘B Babels (19550" 9 DEBoes., ’ ke . v ;

g. ?"E{o}"og 850 &%) S0 50 SdenSod ©OTO I HovBeso.
= DTYHTe0 FRE K850 B K020 emers SrEDH 50A dotnod.
BRSSP DovE Saswsn -
1) A8t BSmESh 2 BSmEH
BG)c A, B&danC 4)  B0d0Ho C S

ir 4 . T

lucation to 60%.

d Conly
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128- Consider the following in relation ¢, forest

Assertion A: The first edition of 7y e

ReasonR: The aim of the b iatlona] Forest Policy in India came into effectin 1948. o
environmenta] stal?iili(t);a:rFOreSt Policy that came into gffect in 1980s we\isa to maintain

Choose the correct answer : ough preservation and restoration of ecologjical balance.

(1) Aistrue and Ris true. ButR is Aot th,
. € correct : )
2) AistruebutRis false. ct explanation for A

@) Ais false but R is true.

4) Aistrueand Ristrue. Ris the correct explanation for A.

GrESBI0St 06 Drrds Bowodony 808 B H0KBoDE.

(BBFES Az SRS InBB erBH ©6d DEFso 1948 & eSHes s HQ06.

o R: Hoogddes ‘éﬁ)éwgé B BILHow S, HoogHBes ;65363@56:63 q“azééagao{)éoo L~ é@g{)é@

oRBEL 0 1980 ©6° wiensts SO D ©6d IeFHo ) ego.
BOGH JSErGRIER) oY Vasosm :

(1)  Aegy 00 Rady. =0 AL RIS 2560 S0,
2 Aesy SORED. |

(3) ASHy s Rady.

(@) Aady 5000 Redy. A REDS D866,

129. The Government of India made some chianges in the Constitution of India relating to education sector. In this
context, match the following acts with their enactment years :

Act ’ Year

A.  RighttoEducation Act _ L 1976
B.  TheConstitution (Forty-second Amendment) Act IL 1989
C.  The Constitution (Eighty-sixth Amendment) Act m 2002

’ Iv. 2009

Choose the correct ﬁairs g e
1 AILBLCIV 2 AIVBILCL 3 A-LIBIV,CIO @ AIV,BLCIO

grB8 (Hghedo Doy Borrds éoaoébdif Gr5S Tregorfos® B Srdnen Bod. B éocségoés 808 Seredd
B Sepen BB BodETros® 8sHY ’ , ®

Sé0 Jod& o
g o8 SO L 1976
B.  oremgolf (425 058e) $¢0 , oL 1989
oregols (8635 $8es) QO m 2002
Iv. 2009

8BS DEGEReR) DY Do
1) AMBLCIV (2 AIVBILCI () ALBIV,CI (4

ET Z

A-1V,B-I,CII

39 P.T.O.
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130.

131.

132.

133.

134.

ET

the concept of economic development are true ?
dered as the measuring rod of economic development.

Which of the following statements related to
the level of real national income and the level of economw

income is consl

A.  Generally, real national incor g
B.  There is a positive association betwe

Rl ional income in the short period is an essential condition for acceleray

: : - tional inco p ti

C Continuous increase in real na g

economic development.
Choose the correct answer : . @ A St only
(1) AandBonly ) Bt ol

3) A,Band C & 59 edn
% & 5O S

igw@j%g@??;di?;i;jgigmﬁ i‘%s"%e)@ Sparsor aS@rARL.

B, orods erdasrmrash Srond SHoam ©0sPRHE Pand Ky FIrEE Howotio GOoLoB.

C. ‘6‘55:)5'»@055 FHDE egféoa;vavﬁoés (BSOS DB 936 @gs"é)zée){g:() SIKS080 B E)%;

Q200H3.
8BS SBrerard) DodE Saswsw :
1)  A%0050 BSmED 2 ABasw C S|
(@) BB C S

B) A BB C,
Which of the following statements is/are true in relation to Brundtland Commission Report ?

A This Commission report was published in 1997 —
This Commission report is also known as ‘Our Cem non Future’.

Bi

Choose the correct answer : £

(1) Bonly (2)  AandBboth
(4) W ¢

(3  Neither AnorB only
(@ofersof SRS DIBESH Soohod) (Bod a‘ga)?soé‘s; B/ 2y ?

A S EHS 1368 1997 S KoHEBoS® (HiHBoSR0 wOA0E.
& B85 JBOED 0N 0086 PAS® © ErE Bz,

B.
$BS BSrGrard) oY BAHosw : =

(1) BSeED (2) ABunBBoLr
(B) A 8050 BBokr 505 @ AdSeSD

Development that meets the needs of the present generation without compromising the ability of future generatior

to meet their own needs is called as :
(1)  Balanced development

(3)  Sustainable development
PGS SToen B eSiTreRH SinBHToms essdo KR,

RS e ?

(1) So&HdS 98 2 3055 AR =

(3) %35 0B @) SKSo8RS ©DHB

Which of the following is one of the core values thatserve as a conceptual basis and practical guideline ft
understanding the inner meaning of development? -

(1) Absence of sovereignty (2)  Self-esteem

(3)  Lackof freedom (4)  Fail tosatisfy basic needs

8ot BS® & (K58 Dens (core value) DB T LoBOTHD BT, OIS Fo&ELerD, EPSTIET

sErSoT S8A5n SSEETHE Koo SIS0 ?

(2)  Diversified development

(4)  Fastdevelopment
Q¥ Boro DT S0 BT odHB

1) foq@asmsocsc BEDES6r0 @  eEFSSO

B) B Fseso @ P08 estoro SinstEs Shseo
The target year for the achievement of all sustainable development goalsis:

gll 2030 2 2026 3) 2040 @ 2047
QTN oFTen ©NBY o Nos&Bo $55% PHOT®D) Gotnod ?

(1~ 2030 2 2026 (B) 2040 @ 2047

Z 20
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] Thermal pollution j
(1) Water n largely aSSociated vy;
o5 S50 Eomsom a5, 0! it
% o 3
The Right to Fair Compensati © .
ff)me 1121501 <1?ffe<:tinthe e ation ang Trarspaze @) ¥go @ o
. ncy in 1, teits T
2 8, SO @ 2014 yin Land Acquisition, Rehabilitation and Resettlement’ Act
. N0 DBy % @) 2015
S8 (4) 2010

©5enSt8 S8 ? % QTR TUSHIS B85
A N8 ? TP J0o MO PBEEES Py S0 D HosEBos®
@ @ 2014 | i ;
Match the followi g -
Nations Develcglllrllgr}\"f ?’;i,wnh the title/ theme E)fH @), 2015 (4 2010
N gg f{ %Tl :ile\/m;lfen;\ Eath of the gi“llg\la},I;EriYelopment Reports (HDRs) published by the United

L H e of HDR '
B. 2010 I uman Development f,
C 2016 3 5\?&1 Wealth of Naﬁons():rllza‘;;rvzgn: toH D
D. 2015 i o uig-forprmanDevelopment y uman Development
gl)loosi tlEE cfgn(ejci\a/nls)wer . S ility and Equity : A Better Future for All

=1L, A ’ "II

(g) A-L BV, C-IIL, DI 533 i BILG ) D
Bob BodETrem, © S0k i e R

) SYoros® mgiorar & « «
B5/a85y8o (title/ theme) & s856 550 - - BREP2 S0t B30008 Sr33 ehy NS08 TG

B0 S
R hoe S5 ofB 2308 dog/aspdo
2011 L (8 208 & 3 =
B. 2010 REPE SIS ©098
. I Jovo A H0HE @ S0 ©hF)as Sropen

C 2016 M S8 e §66 50 dcdwo
D 2015 V. Xodoe 080D B : ©0otids Hod FAAE
8BS DEPGETR) oY VA : i
(1) A-IOLBLCIV,D-II =) AIV,BI,CLDII
(3) A-LBIV,CILD-I 4 ALBILCL DIV
Which of the following statements is/ are true in relation to the measurement of income inequalities ?
A Lorenz curve is used to measure income inequalities.
B. Laffer curve is used to measure absolute income inequality.
Choose the correct answer : '

(1) Bonly '(2) AandBboth

(3) Neither AnorB (4) Aonly

SIPcSH edErsEe FoddH Joposod Bod sggsp?goés DB/ ady ?

A emdh essrssos Fosirds 8Bos S EBpo SBPIEAF.

B. Q65K emrod edirden) Foseds o8 S0P GDIPARLD.

$B SEFGRARR) DoDE VA :
(1) B&rED ) ASodas»BBoEr

(3) ABan BBolr &R ) ASEED
Which of the following committees were constituted for the purpose of poverty estimation in India?
A Ashok Dalwai Committee B. - Rangarajan Committee C.  Tendulkar Committee

Choose the correct answer
(1) BandC only o ) AandConly
@) ABandC (4 AandBonly
& (Bob Eded® D BisdEO o B8 domtn B ?
A o8 mexon 56 B.  GoroomS 508 C.  Bokrof 08
$BS BETGETRY DOBE Bcswsm :
(1) B0dko CEPED | 2 ADokd CEIMED
| ' @4 A%B»B S(E

(3) A BHoaC

Z a1 P.T.0.
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140.

141.

142.

143.

ET

: he Periodic Labour Force Survey (PLES) of : Jlcators
ﬁi‘ig{iﬂ;gzgcf tthee percentage of unemployed persons in the lalligi r} fg:r‘c)]eol{ '::ent Unefnployment In x
(1)  Labour force participation rate. () Unemployment by s known as : |
(3)  Unemployment-population ratio 4) Worker-popul atfon pasic
(SeS adrd, A& Srdsen aaéa’)a—&?foeas 3023 ) oy i g8 5. oo, O % (abour
force) 88 Q&G @) HEhe TERY, DN Denotsy 9 = V%
(1) S96° F&I sogys $§ Do~ 2 BEnas By,
@) JHEEAS-argr AP *)
Which of the following statements is/are true in relation to ‘below poverty line census’ in India 7
The Ministry of Health and Rural Development of Government of India has béen conducting below poverty

SO a3 D8

A
line census since 2007.
B. Below poverty line census in India conducted in 2002 was based on 16 measurable socio econom ic factors,
Choose the correct answer :
(1) Bonly (2)  AandBboth
4)  Aonly

(3)  Neither A norB
ESEBE0S® 0|y Tt BIHSS &) aTe” THOL Sowood Bos g’ DO/ w8 7

L L L
GrES (5083 8%y O (PAerYY BB w2007 5 BosdBo S0l O OP BHIL &g

A
27T BEHOD ErLPolRN0R.
B. 2002 &° SrroBodS Oy Sed BINES af) wmer Bm TesKons 16 Fos 988 ST
SLRSIE SIROw.
$BB SSeGEEQ) odE Fhosm :
(1) B A 508350 BBokr
A Sr(E$H

(B) A obcs» BBodr 50
S as per Right to Fair Compensation and Transparency in Land

First schedule on compensation for land o ]
Acquisition, Rehabilitation and Resettlement Act 2013 does not include the following :

(1)  Solatium =E
(2)  Value of assets attached to land or bqaidir}g
Subsistence grant for displaced families for a period of one year

3

((4)) Market value of land

TOHPP S HOEG0, A;BEYEE, grnsse, BFDOTAS K0k HETTK &0 2013 S°Q JwSd s,
808 8S° B EOAOLESE ?

(1) &85 reabo Soe Bepd) 68 BP0 (solatium) 5

2 508" u8 Tadwds a0 Dens Boe EQsne Do

(3) TXGodo BobS ;08 FoBHS oY ESS 48 Tor ES5TEY Howntd

4)  grdo SB)ES Densd
Which of the following are stated directly m S iainable Development Goals ?
B, Climateaction

A Noise pollution eradication b
C. Sustainable cities and communities ©. P,  Himalayan ecosystem E Life Below Water
Choose the correct answer : i
(1) B,CandD only (2 A,DandEonly
“ (4 A /BandConly

(3) B,CandEonly
RS ©P5)3 oFzee® (Sustainable Development Goals) 08 T8 DD o (BRRV0SLESD ?
B,  areeddes 8 (climate action)

A Iy srendy Ao
raireah Hovses J5S E. 38 805 €50

C BERS Stioven $o0c Sogmen D.
BOTE wara0iS Ainslod

() B, C&00s D S @) A D8akESrEd
(O B, Ci500% E sn(es @) A, B0aH CEr@D
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WhiCh of the follow,'ng Staten,
. en

A The Planning Com .
in Lakdawala COmml.Sslon concept of poverty in India are true ?
i

of Ing
t 1a egti :
B. According to Pl — Ce T'eport Stimateq poverty in India in 1997 based on the methodology contained

On pOV
. ot erty,
capita consumption, 8 MMisgjop
n
areas at 1973-74 pyi Permop in SPoverty estimates of 1997, the po
Prices at nagio .1 1al areas and Rs. 56.64 per capita

44
1 Telateq o the

verty line was fixed at Rs. 49.09 per
consumption per month in urban

daily calori . ON'51997 o040
o rie Tequirement of 2 4§Shmates of poverty, the poverty line is also defined in terms of per capita
Choose the correct answer : 90 calories and 2,100 calories in urban and rural areas respectively.

(1) A and C only

@ AandBonly @ ABandC

S505° BB o 4) BandConly
gPBSEB0 0 gPHI% Somood) 808 argpses® 5 aly ?

=
A 5,5080 @&cd0 8
$og00 1997ES & em 0D AAHWNS e¥rraper E/d ISEEE" BrDODD BB srdorr grss (Heds
FEET Lo ﬁadasog& oS 32508 %

Heaedse DO 3

B. g) e ;;D;o 1997 ’5; 581 5508 worio E6 1973745608 (P2 romod® 49,09 GrdndboR

0% 490 B0 e 56,645ty B Soid D oo 636 @b S O e
BH)e0 20A08. — ’

5 B BBHO @BIEFR segode 8o (eeoee

C (Perdse doxwo 1997 & TGS 08 wosre
2,400 s;g@ée:o 3,468 Dpre AGDOBL0 20R0B.

. Grozres® 2,100 stpben S0 Sign [rosd
4335 HEPGRER) JODE Bosodm :

(1) AoBdS CERED @
(3) A £28050 B S(E0 @)

145, Consider the following relating to income mequalitie%f%{}ndia 1
wnership is one of the reasons for income inequalities in rural India.

Assertion A: Inequalities in land 0
Reason R: The presence of inflationary conditions in India also contributed to the existence of income
inequalities in India.
Choose the correct answer : :
tRisnot the correct explanation for A.

(1)  Aistrueand Ris true. Bu
()  Aistrue butRisfalse-
(3)  Aisfalse but Ris trué: :
(4) Aistrueand Ristrue R is the correct explanation for A.

’ A E% I m .
PEEBEoE® emecd @ééﬂéé@ég ;{;oaao@o{ﬁ |8ob B HOREBOD)
583 & &) GHTRED (eabe er550%08° sTrah ©IIPIBOR 2.8 o8R0
L:vs e dﬁfiséi: s SR g et SRS Gorknl G50 S

@woR: grE8EI0 3).
8 Rl oS Besu? wa%5 DN 5oL
1) Aesy oo R o0 AB RS
@ Ay =2 REY
G)  Agy O R <o 9555
W Awiy S0 R ap- A s
' z l 43 P.T.O.
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: ia in chronological order on the basis of their enactment :
i d to women in India in ¢ g
146. Arrange the following acts relate

147.

148.

ET

A.  The Dowry Prohibition Act : A
i t
B. Protection of Women from Domestic Violence Ac

ibition of Child Marriage Act
C ;’erohlllnl;;on Osment of Women at Work-place (Prevention, Prohibition and Redressal) Act
Xua aras.

D.

Choose the correct order :
D,C,B,A @ ACDB G CABD 4 ABCD

1
?fl")éééé SoPEOH $owoGoDS 808 SEROD O BEPBS SoSdmre wrrsort SrolESridrsorT ©X08NKw

A SBEe) RG S&o
B, )i Br0 08 Soetio S S50

C  erey daedte A0S &0

D Srdop 39 @dd06° Bond Fpode (Verde, do mbam H63B0) $580
SV (B5rR) odE Sakwsm

1 DCBA @ ACDB
The World Bank classification of developing countries is based on which of the following ?

B3 CABD 4 ABCD

(1) Level of gross national income (GNI) per capita

(2)  Levelof gross value added (GVA) at.njglfket prices

()  Levels of gross saving and mvesmlen%in the economy
(4)  Level of gross government expenditure
B0 argo> T @3 ToHHis) Beve 558w Bod et B3P eprsds @od ?
(1) Sosd Spe erdarmrdd o : 7 '

Q) Srops ffolSTox po Densd KB 55003

G) o8y 559326&;)65 Bpo SHH Hrdas» el ﬁ(;owen

4 &po (D50 Sgah eow

Which of the following statements related to Physical Quality of Life Index (PQLI) are true ?

A. Lifeexpectancy, infant mortality and per capita income have been used to construct PQLI by Morris David

Morris.
B. Its score ranges between 1 to 100 :
C Its score of 1 represents the worst peffbrmance.
D.  Itsscore of 100 represents the best peffc;rmance.

Choose the correct answer :
(1) AB,CandD (2 B,CandDonly

(3 BandConly 4  AandDonly

T8 DYE £58 Krd (PQLI) 8 K02060DS 806 T5ses® DD ady ?

A ook (55760, 8% SHbemmen SOk BOKO0 SLrAir) SHTPAOD TET BDE Te6S 2°HD Hrohomd.
B & 5rd De08 15008 100 585% doton,

C & 50D 05 1re a0 op 3 S KrD508.

D & rd 20 10010 a0 O8 ©dgdH HIBDH K08,

NBS ST 2088 Bt :

(" AB,C0aD @  B,C%B80 D Sl

() Bdasn Caimgs 4) A8 D SrE
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149. Which of the following senior citizens related schemes have been implemented by the Ministry of Social Justice
and Empowerment, Government of India ? o
A State Action Plan for Senior Citizens (SAPSrC)
B. Rashtriya Vayoshri Yojana (RVY)
C National Helpline for Senior Citizen (14567) - Elderline
D. Integrated Programme for Able Women Citizens (IPAWC)
Choose the correct answer :

(1) CandDonly 2 AB and C only
@) A,BCandD @ A, BandDonly
GBS (0gHER ooy TG0, GBS Kwo@;és o, é&ré&cﬁwéo 502005005 808 » HEPod een

T%08 ?
A 26&3%’)9)6)0 &%0 oog/ovess sPoRgsses (HeaedE (SAPSIC)

B. ooQao® :aaa:o% Boeesd (RVY)

C  SSrdygo b GBS (14567) - (RS (2583)
D, $50538 Sodree e 850 D8EE sESo (IPAWC)
8BS coém;wa*@cl oY VAS0XW :
(1) Codcs» D S

() A,B,C%0a»D

- A B 000 CSmEh
B 0805 D (gD

ir objectives/aims:
Aim/Objective
nabling urban poor to access gainful self-employment

150. Match the following schemes for urban poor with:

Scheme

A Atal Mission for Rejuvenation and L
Urban Transformation (AMRUT)
2.0 Mission -

B. Deendayal Antyodaya Yojana _ To facilitate micro credit to street vendors in urban areas
National Urban Livelihoods £%
Mission (DAY-NULM)

c PM Street Vendor’s Atma Nirbhar M. Tomakecities water secure
Nidhi (PM SVANidhi) scheme

Choose the correct pairs :

(1) AMBLCH  ( AMBILCI (@) ALBLCI @ ALBILCT
Hegen 3 50% 502000003 8od HFseod T8 er'ge)o 68-3"056 a8H%)0
Sggo 6360/9 gse
A oS RS HE 0erSIAS wof ©f)S @J'»S‘ﬁ:“'c‘i&a5 L 390 DS0dH orgfmradids Sgao
(AMRUT) 2.0 045 a8 Sy
B. B55c5rS eosisah @rad IS &96835 65@&053 L 580 @omrod® (R IosGD wrgy e
XS (DAY-NULM) _ G50 EHoBwo
C (B Sol® Q5 Bosh) e& 255 6 oM SKocced I gEsd sPosto
(PM SVANidhi) 580
$BS aged dody BSodw :
(12( A-TI,B-I,CII () A-ILBILCI (3) A-LBLCIO (4) A BILCI
-00o0-
ET Z : 45 P.T.O
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